Statcroenl: Statcment is generally meant
group of wiords that have meaning but in Lagic
glatement maeans eroug of words that Lok two
teving, firat term 13 userd wuder subjoer and the
aerond term vnder predicale, The statements in
Togic are called propositions or promises,

Premisrs: The promises that hae the
major lerm 12 called major premise and the
premise that hue the minor torm is cailed
TG TEI A,

Term: The predients of majer premisc is
ealled major terin and is denoted by P oand its
sulpecl s called minor term and is denoted by
& and the terms which are commuon in both the
premiscs are called middle term which =
desnted by L. for exampla,

Exawmple:

Al men ore mortal (Majer Prem LEa)

Mam s man. (Minor Premise’

Ram is martal {Conclusion)

Here ‘mortal 1s major term and its subfeet
iz not minor term lere because it i@ inmminog
premise also 2o U is middle term. Mibor 4obm
bere iz “Ram’.

In logic unit of argument ia ealled
proposition or premise and unit of théwght i=
valled term. A propezitions dilerant from a
semtence Lhat ite predicata giBer #fivm or dony
the aubject, f.e., if'we say thalbhdve taken food,
In Lhis sentence predieate neither uffirma nor
denies Lhe subjdBbog if we eav that man is
murlal then the word Sortal affirms the mean =0
this is a profgesitieniand "l have 1aken food” is
just a serffence) Now Lhe question is haw will we
identify the M@jor and minor premises in a
s¥llgsmngroup of logical statemer ta It i
possible by rdentifving the major and minor
teesi For Lhis putpose study the [st and Tled
Aremizes awl ideniify the prodicate which hus
vital and wide coneept. TLwill be the major term
and the terms which come in both the premises
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an

will be the middle terma. A term may have ofe
word nv ore than one word . Moreover minar
term will be wsed us subject of the conelus 8
#nd ite predicate will be the major term)

Types of Syllogism:

1. Categorical:
Here all the proposiliviis are cltfgoricul
m pesitive or negative fore snd no
dochtfulliess i seen at @lled o,
Al graduates apmeligihle
All eligible ade mem
Sotue mearesradig e,
ypatléetival:
The syllegism of this Lyvpe uees premise of
comedifionsWil he works hard, he will
saecoed D Here the first part iz wallod
antgeedent und the second pard is called
wonscqlent. I this type of syllogiem the
major promisg is hypelhetieal laaing =nrue
thing and the minoy premise will he
categorecal e g 1 he comoea. | 2kall meal
him, in thas s¥llomsm.
[l comes,
T shall meet him.
- Disjuncilive:

T this type of svllopism the Aoy

premise p disfanctive and the niher two

oo
(Miner)

{Come.}

iajor)
S

premires are
catagorical, g,

Either he 1z an honest man

or a leef { Mmer)

He iz an honest man. liner)

He ix not o thief {Cone]usion)

Tn dizjunctive statements twe terms
opposite 11 mesntng are used. IF firet 1o
affirmed the
secund must be doniad,

Relational:

Heore relatinrs between varioue termz are
showr orderly, ¢ o

AR B0 O =T

Ho A = IF (eonclusien)



5. Dileomma:
Iu such type of ayllogisms the major
premise is double hypothe tical and minor
premise iz of dispunctive type and the
ronclusioy will be sithers disjunctive or
cAatERorical, e.&

i1 1f these hooks confivm to Quran thoy ars
reliable ifthey do notthey are superfluous,

(i} Either they confirm to Quran or they do

[ 1n ]

Cither they are relichle or superfluome.

Io the ahove exampls the aceond and Lhird

premiacs are Jigunelive.

4. Copula:
The verb used i the premises in logic is
called copula, For this purpase “is” and
“are” gre generally wsed 2nd logicians do
not uge ‘was and "wore’ a8 copula bacause
logicians alwags talk in tovme of the
prosent.

e}

Tyvpes of Propositicns:
1. From the qualitative point of view—
froom the qualivy point of view it s of two

ALl

A Affirmative - te, A'l graduates arc
mern.

B. Negative - e, No man is hard-
warking.

2. From the quantitative point of vigws
From the quantaty peint of view i is bEpwo
bypne:

o} Umiversal—n which the gubjedl i
universal and refers fo allfwithout
exceplion. te. human helng are
morial

(B Particular - iwhich showeubjoot deizs
nat reier to sllpde., gome people are
hard-worldng

The propusdichwhith begins with proper
poun will algc™ke trealed as universgal.
Similzrld) thiprepoaitions which vees porased
like %l o nne™, 90% about 50%, ete, will be
trpsted ARphRTcular propusitions, The words
Jike Same Limes, oiten. g=nerally, ele, also maka
the pruptsitions particular.

The prosositions which use words like fow,
little, haydly, seareely, ete. sre onezidered thbe
negative proposition. Stmalacly if thero are
double negatives used In 4 prupraitiun than the
praposition will becownz alfirmacrve. Cre the
hesia of ahuve divisions we car 2av that there
are four types of calegoren] propusttions i
[Txitalin

1. Universel affirmative —il i= callad "A7
pLpEELiens, Te,
— AN lakcurers aye hard-worling.
— Al chifdren are true speaiing
a2, Universal Negative—They ave culled S8
propoeitions, e,
— No mirmster iz dedizatal,
— Mo human bewng = hap g ete.
3. Particular Affirmalice@Thadaraielled
T STV, propasitieng, Le.
.~ Bome men are hard-serkoes.
Some peopleare lahoorms,
4, Particular Negateve; ey are oelled "7
Proposilicas. B,
- Somf men aréTws hard working,
— Spmesminiaters are ool honest.,

Distribatioh af Lerims in
proposifionss

_ Undmge of & prepozihicns ouls suhject
to distribuked,

2 Inease of "I prapra:Lion both subject
and predicate ave dizwibuted.
In cage of “I”7 proposition ncither
subject nor predieste i dwsribueed,

— In case of "0 proposition ooly
predicate 1s distrdbuted.

Now, the guestion is how will the terms I
distributed, Take the cxample 0" A proposi TIEY
“Man is mortal”. Here Lbhe term man has fwe
meaning. The first 1z, man weans huosn heing
and the second, 15 nan means simaalisy, 19 chas
tarm ‘man’ has besn used as denotaliun, T.e.,
fLan rooans human beinp, the lerom s will b
distributed. ¢ the other hond f man means
animality, L& sonnotalinn oof [ae term, 6wl
not be distribiited because there ave uilice Ak
mals besidez man and the sroposilion will ot
remiadn Universal. :



SQimularly | in case of ‘B proposition bath
subject and predicate are distributed, {2, no
man is happy. Here ne man refers to all human
boing and happy alen refors to all without
axception. S belh can be distributed for Togical
eonchusions. In the third case of T proposition
neitheor subject nor predicate can be dastributeod,
e some men are hard-working. Here neither
the term men refers to ‘8117 neither the term
hard-working” refers to all so both of them
cannnt be distmbuted.

In the last case of “0)" proposition only
prodicate is dastributed, f.e., some men are Dot
honest, Hire the tevm ‘men’ does not refer to il
bt the torm henest may refer to all so it can e
distribertod.

Diatribution of the middls or other wrms
help= us Lo areeve at logical conclusion,

Types of Logical Inforonecs:
A Immediate Inforance
B. Mediate Infovence
A, Immediate Inferences:

Bumetimes promizes are arranged 1n
diffcrent forms. Ont of thom some are true and
amme are false, iec, 'some students Arg
industrions’, g 8 premise. 1f it is congidered 10
ho true then ‘some cfndents are not indugtrious’
ig alao true bul if we 3ay that ‘no gtigdsgt iz
indiatrions' it false. All these aTrEngemer.
are hased on certuin rules. Mhis is called
immediate inforenee. We ghall disgnss here
oaly {wa methods of immediatodnfergnce:

1. Conversion:
Here we derivegonclesiorns by tisking the
following rules 10to acgpunt:
fn) Predicalalégotncs the subjecr and the
suljrebhecomes the predicate.

Ruality o proposition doea not

undergo acy change, 1.0, Affirmative

Eraposition wall lead b alfirmativa

conelusinn and negative pm.pnsi’rinﬂ

will lead to negative conclusion,

(e} A" proposition is converted imto ‘I
pro-position. T proposition s
vorverted inte ' and “E' inwe B itsclf,

{i1) Proposition ¥ cannot be converted at

B}

all. Examples will illustrate these
pointa,

fi) All miniseers are politicizns”
(A Propositiom). lts converled
form is 8Some politiclans arc
ministers {I pro-position}

Some men arve hard-warking (7
pro-positicn)

Its converted borm is Some haed-
working are men {I propegieon)
No man 1= unmorlal. O(E
proposatzon), Tra consserted torm s

i)

i)

o immmowtal ls oman,  (E
propisilion)
Somoe studenits aremot infelliveonl.
() proposiHon)t
It asmm't hie donverled 1w ihe
fallowing way. Some nlelligonts
areémot studenta.
4, (hiersion:
Ghvarted form of inforonee v based on Jhe
followingdules:
fith Subject doce not underes any change
But predicate  is  changed oo
contradictory. Here contradiclaory
doea not mean the antonym of vl
tovm. B 18 not wzed in lopie. For
making contradictirsy ol lhe e et
aliould bie added before 11, e, contra-
dictory of Teind’ 12 not ‘oruel’ kol "nor
kind” is the real conleadictors of
“hind”
Negative propositions arc changed
irto affirmative and vice-vovraa, fe, A
is chverted nfo Foand ¥ iz obvertec
into A proposttion.
fey The gquartity of the proposition w21
remain the same, I the propoation is
universal it will remain uneversal and
if it is parneular it will remain
oarticular in the obverted form of the
conclieion.
Following examples will illustrate these
pointzs clearly.
fil Al religions peoplde are onntended
people, (Propnzition “A7,

(ic)

(b



Me veligioues ds 1ot cu ptended peaple.

(M
Gy No man 1z fully impartizl, &

propusiton).

Its vbverred lorm i

Al et e not fully impartial, (A
(if) Some wen are hard of hearing. (I3

Tts ohverted form ia

Serne e e dot kard of feartag, (0O
firy) Bume ductars are net good. ()

TLe abverted form is
Sonee doctors are good, (1)
Validity Takle:
[n order to est the validity of the
~omelusions we may aleo use the fallowing table:
Here T and t = truth
fand F = false
4 = doubtful

AT E [ [§]
Tl |t I
{ T F 3t

il FL1T d
Fid|d]T

How to use the table:

‘All men are honest’ is'a proposition ‘A’ IE
it 15 congidered to be trur then i the conclusion
propesition, E ie, “no man is honeat” will be
falae “Sonme homest are men” will be true and
conchuzion of € propostion will also ke fdlee
Now if this propositaon is considered tu Be False
then proposition ¥, e, ‘Mo man is henesL 5
doubtful and proposisions L, ie., SeTe MER ars
haneet' 1y aleo deuhtzul bt the Eroposition O,
i, ‘mome mon are not honest 1s e

“Gome students arémadtive’ 1% an T
preporftion T it 13 copsidercd ok Lrue then
comelusion of "R fropeéiion is false. and
canclusian of A and Qpfopositions are deubtful
whichia clear frnm the thigd columun of the table.
{fthe samopropos tion is consi-dered to he{alac
then conc nstemsef T and O proposition will be

true atdcs Spropbsition will be falze which is -

evidentfrontthe second colummn of the table.
R. Adladiate Inference:
Arryang conelusion on the basis of the
andlle term is calied mediate inference. There

arc two premises—ane b majir and tno other iz
minor with one ronclosion, This group of
argumenta i techinicaly [ v fig @y, iop1em.
An example will ibustrau: the pont.

s}l memmals are vertebraves.  ihlaord
“he whale 15 a mwammal.  Onor)
The whale is & vertebrate  (Conelusion}

Here the word 'mamimal’ 15 corrnom 11 hoth
the premises. [ Is middle texm. Thie duees not
peonr al allin the conchusion even ' on the basis
of it conelusion hae been drawn.

The cateeurizal Lhds
pazenully a provess of comvparicon. Tagh uf Ltha
terma 1 the conelusien Ly pompardd withthe
middle terms in the pramises sndesencligsion s
arrived at an the basia of the Middigtern.

The rules of catcgosigalsyllagizm:

For arriving at rightfand valid sarnelusimms
following rules or canonadnust b kept o VR

1. Tn every svdogpsm thef must be Lhree
terms andfnctinorethan three Lo, the
major tevmg’ the miner orm and the
middle Thrmgeest
Goed chfirocters are liked by the
pedaple,

JBhShaw vuso: good characters in his
noveld,

There ave fuur wrms moche above pwo
premisea hecause "good ch aracte™ hastwn
diffrrent neamng 1 Lhe wro promises. So
no valid conclusicn cun be drawn here.
The middle term must bave the identical
menning in both the premiscs and it must

M}J]E to be digtnhuted.

2. Every categorcal <¥llogism must contain
anly three provises - magor, minor and
the concluzion. F.g.

svilopiam 18

Man iz morkal i
Cowr i= mortal (2}
Ham 1 4 min o

There ave three promises excluding con-
clusion en 1o conelasion can be drasno
from theme.

8. The middle term mazt be distributed m at
least one of the premices. I is a2 must
becguss if iz the standard of compansan,



[ roust b used 1w at lcast one prem:se Lo
1 wversal excent, @.o.

serdiineaslary rocks are  stratified
subslances. Some metamorphic rocks
are stratified substances.

Here the term stratfied substances is nat
distribied gl all because sadimentary
rocks agree with one part of the stratified
subatance and metamorphic rocks agrec
with another part. Thus there are foar
terms.

4. The torm not distributed in the promiscs
cun not be distribuled in the concluaion,
An exsnple will ilhustrate the point.

All rational heings are responzible for
their action. (1)
Brutcs are nol rational heing. (43
Brutes are nut responaible for thedr ackion. (3
Here the major term responsible for
theiv action iz divinbuted in zhe
eonclugion but it was aok diseributed
the major prontize because it means that
only thase ate regpengible for their action
who 2re rational being.

§ & 6 Two negative premises vield no eonehuzion
and if one of the premizes iz pegative, the
concluston must he negative eg.

Mo student dishikes paomes. (13
No game is fully eatisfactory. 4]
No conclugion can be drawn from

these two nremises

Nuhuman being dislikeafustios. (1)
Btudenta are human beine. (2

Strdents do not dizlike justices
(Conc]uzsion)
Here onenithe e pramisesisnegativothat
makes Lhe coneluzionge rative, Butdouble
nepativesUscdibapremis: makeaitafie-
meative@nd gonclusion based on it will be
COFPRCL, Eher
Naonetmhie is not thoreughly upright iz to
bie trzated. )
Thigunan is not thorowehly vpright.
This man iz not to be Lrusted .

7. No conelusion can be Jrawn from two
partiewlar premises.

4. If one of the promiscs 2 porucular the
eonclusion must be particular.
Four possible Arrangements in Lowie:

Figure 1 Figure 2
bt B P vl
L S M
3 ™ y—— b
S I
Figure 3 Tigure 4
™ P P 1
% &
e BN
b "
5 = Bubjoct or minor term
P = Predicate ar major term
M = Widdle term

(i the basis of Uhe fmapdimifies shown shove
and four wypes oF Propesidions cheore are
dx Qg = 266 types nf afllogLems possikle, But
there are colgngld walidievllomams whoeh e
given below andwlher are invalid. These (oo
tlgures And thein Mumbers muss he kept n
view, hegause ey will be voferred 1o later
charters offosic every now and ther.

Figure 1 Figore
1. AAA 5. BEAT
2. EAR 6. AHKR
3. ATT T Al
4. FIC 5, A00

Figure 3 Figurs 4
4oAaal La. AAT

10, IAT 16 AT

11, AIT 17 1Al

12 EAO 14 EAO

13. 0AD 1B Kl

14. ITTC

Some enmples wil llustrate thess poinls.

1. M

AN

P All apirituals Tove humari v, (4)

= Bl All [ndians are spreinalz. A0

85— All Indians love humanity, /A
ANA avllogism is here. Thue aon-
clusion iz correcl scenvding to
faure No.l.



2 M P Al students are hard-working. (A)
3 M Aniliwastudent. N
8 F Anilis havd-working. T

Svllegizm Mo, 3 (AID 13 here ac-
cording to Fygure o, 1.
530 Z."'.-i No human heing is animal. (I}
MR All anbnals have foor legs. (A0
8 —P Noman has lour legs, {E
Thiz conclusion is not walid
because DAL 1z not Lhere in
Figure Nu. 1
Home studenla are Saidhiul,

4. M |: 34
M—5 Al studerts ave Indians.

5—P Suwe Indien students are
franthiul.
Svllogiam Mo, 10 (ALY is here.
Thus 1t 1= vald according o
Figie Mo, 3

5 F M ATl animals hike graaa,
5 M Lion does not like grass.
% —1 Lion is not an animal,

Thia eonelusion is valid because
A i their in the Figure No. 2

et thiz ronelusions 18 corTedt,

Rules of Hypothetical Syliogism:
It ie based on the connection hetweon a
suppasition or condition and it consequence Q1
zartsbytheword, il supposing, granted that, as,
ete. Thepartofihesvllogisinw hichemnressesthe
condition 14 called antocedent andtheclanze

stating Lhe resultis cailed sonsequent, In such
type ofsyllogism the hypothetica prereize 1athe
tnajor premise and the categercal propositionia
theminorpremise. Follvsingruleamuatbekep
inviewwhilenrriving atvalideoncdusionsinsuch
2585,
Either affirm the antecedent ar deny
the consoquont e.g.
1. if he wers well, he would lesve the place.
2. He has not Jeft the place,
(Con). He is not well,
Here tho consequent 13 denad g the
fullow:ap cxample antecedent is aflidned.
I I it raing today, he shethnoties to
achoc,
2. Il iz raaning.
(Con). He shall not gofie echecl.
Y0 always affirm the aategzdent or deny
the consequent a@he cdse may boe for valid
copelusions. |f bypfmistake, conseguent is
affirmed ‘hefallowingdnvalid concduson will he
drawn.
1. dffer[edppuilioe provailed, the rich wouald
nof bepermitied Lo exploit the pocT.
2, "The #ich are not premitted t0 exploit the
pon.
{Can). Perfect justice is prevailing.
The &kove rule is also fullowed o
dispunclive syllogisms.

FALLACIES OR POSSIBLE ERRORS IN

1. Fallacy of.ambigmitye1f middle term or
phrase are ambiguous wrong conelusion
may be(dvavwh. ~.4.

1. Hartizans are not fasthinal. i1
2. OResablicara ere partizans. 2]
(Conmcluban)

Repuablicans are not faithful.
Hore middle torm partizans has two

LoaicaL CONCLUSIONS

meaning in the two premizes, In the promises
Mo, 1. it mears those wheo are projudieeiy
ititerested in some cause bul in the second
premise it denoted the members ol a purlicular
parly.
2, Fallacy of composition:
When we sceept a thing or erm to b ivue
uf @ whole which just holdés true of ita



1. Al the angles of a triangle are

sometimes butchered by the rich. (1}

less than 180~ [a ] 2. Rich people are always antagonistic
204 P oand € are tha angles of this a2 bowoge who v in slums (R
triangla: (2 {Conclhision}
{Conclusion) Rich butcher the poor because <hey
A Band (0 are Inss than 1804 hate them.
Hore all the angles” in the first premise b, Fallacy of Consequent:

medns eacn and every angle talen separately
but in the accond premisze it meanc A Band C
taken collectively. It meuns what 12 true c[paet
can nob be necessaridy tre of the shaole,
3. Fallacy of division:
It iz the moposite of composition. I we
conader that what 1strae of the whole will
be true of paris when taken separvately it
will alen give wrong conclusion, 2.8

1. All the birds fly in the sky. {1
8. Cwtrich s oa bicd, { 6.
(Conclusion)

Orstrich fly in the sk,
Crarrich 12 an exception which does not
- fly 1n the sky.

4. Fallacy of irrelevant conclusion:
We some time assume a5 wrong
canclusion ta be right if it iz near to the
right conclusion. This makes owr efforts
fixtilo ez

I vecurs when the conclusicn does o
really follow feom the promses and 6=
wrongly drawn duc o lack of logical
knowledwe e o
1. BEweryone dezive: happineszs,

{1}
2. Virtuauz penple are happer.

(2}

{Conclusion)

Evervone degires be bedariueus.
Fallacy of Accidcnt:
The happeraigwhich aecars very varely
can nover he regarded az g rogular
phenorenon of ocourrence and
corrcisiog, w1k wrong.
1., Shadvsehich is propelled moves, (1)
&, This bhedy maoves., ()

(Conclusion}

Thiv body is propelled.

QUESTIONS

Tepe'l

Phirections: fu eoch of the fellnunsg
guesiions there are e statements folioiied hy

fz) Rita doea not like beauty.
jd)] MNene of theas

gevernl ronclusions. UChansedhe Best ane oftar 3. 1) Gald is ductile.

apopiying fosical reasoning. THesd steatement
ey b ad vortcence froon the com e Ly kicocen
facits,
I. (i) All sisters dare mGthers.
fi;} Some motheérs are children.

(i1} This substanece is not ductile,
i) This dubslance 1% not geld.

{b) Gald iz not ductils.

{t) Ductiles are not gold.

) All ol these,

fir) All childrenarc sisters. 4. {i} The cabinet passed the hill,

{h) Samesistersare childron.
fr] Samesnolhers are ststers,
A0k ne of these
2. (1} Paimiers like beauty.
fii) Hita is a painter. i
ol CAll [hore who hke beauty are

fii} He is & member of the cabinet,
fo) He pazazd the hill.
&) The bill was passed by him.
fe] A member of the cabinet can prse the
hill
fd) Neone of these

painners. 5. (i) All  religicus people hate

fii Rita lileea beauty,

corruption.



tl.l.) LI ILclLES ™ EUI’L’“FL‘!ULI.-
fa) He is & religious man.
fh) Corraption hates religinms peaple.
fed Those who hate covruption are

celigioma.
{d) MNone of these
8. {1} All men are liable iz cammit
mirtakos.
(it} All priests are mren.
{cy All priesta are liable to commit
mislakes,
(b} Commirting mistaka 15 lnrmnan.
(o] Some pricsts don'Lcommit mistake,
(£} Noune ol these
7. (i) If it is eloudy lion will roar.
{it) Lions don™t roae.
f) 1t is not cloudy.
fb) 1t ig cloudy.
fc} Tions roar anly in cloudy night.
i} MNone of the abave
B, (i) We are dependent on our molor
Ccars.
i) Our motor ears are dependent on
petrol.
fo) We are dependent on pevraol.
(b} Fetrol is depondent o na.
fo) Petvol is e dependont of mator cars.
() None of these
9, ¢i} Al planects are round.
fiiy A car wheel is round,
fa) A wheel s a planet.
i) Planets ave wheels.
fr) The thing which ia round iz n planet,
fef) Nome of these
10. {i) All tigers have four legs.
(ii} No cats arc tiger.
far) Mo cat has four lega.
{b) Ne four lagers aro cats.
{ol Tigers are cals.
(d} Mone of the ahove
11. ¢f) Humans can ndilive sithout
atmo=phere.

{ii) ThemoonizWwithootstmosphere.
fa) The man can ngh live on the moon.
fhi Some men can aswlive on the mou.
fr) There is'no life possible on the meon,
{it) All f thoze

12. (i} Semeiriangles are figures.

{ii} Sometriangles are pentagons.
fin, Some penlapons ace fipures.

. (%) Semc figures are pentagons,

|I|.-‘_J L7 LALAALLE AL LA NALSW A LS vl
fely Wone of these
13. %) All lawyers are uncles.
fil) All girls are lawyers.
fir) Al girls ate umelas,
(b All uneles awe givla.
(&) Some @rls ave ot uncles.
fel) MNone of the abmee
14. [i} Some roots are ships.
({} Some ruols are apples.
fr) Home apples aro shipa.
) Some ships are applea.
fa}b Ne root iz a ship
() Mone of these
15. (i) All the English spraking people
are fool.
{t1) Mohan speaks English.
fir) Mohan is a fool.
Bt Mohan iz not a8 foal.
foy Bome Enplish speaking pecple are not
Tool,
(il None of the above
16, (i) Water iz a liguid:
i) Tre is watern
() Lew is liguddg i LToe is uot lguad,
() Mo ieeisliguid. (d} None of these
17. {i} Hénest men are respacted.
fii} Bhels ie ar honest man.
fir) BholaigTespected.
ib) ABhila may probahly be respected,
{r) Pagple Kle Bhola sre respected.
() "All of these.
14,94 Indiaincludas Bongal
{(fi) Bengal daes not include TP,
fer) Tndia does not inelude UP.
B P i aloo a part of India,
fe} Bengal includes UTE.
fif) None of the above
19, fi} All the express irains stop here.
fii} Rajdhani does not stop here,
fr) Rajdhani iz a passenger train,
B LRajdham is a fast train
fe} Rajdhani s nolsn express el
fef} Mone nf these
g, (i) All chairs are stars.
{ii) Sore chairs are round.
o) Some rounds are atars,
{8 Some sters arc round.
t¢) WMo ster i round,
td} Mone of these



=== e na e sa iraw s

A mA MR T AR i

1. (idk P — M () = AlA
Mem 8 fby = All
2] F f) = AH

by

3

4.

=]

&)

(d):

(d):

L {d):

. da):

S

Thus @1l the threc syllogisme aee
tuvedid aceording to the Fipure No. 4
I B
2 M
= T
Option (@) iz weelevant. (b iz correct
kecauas it follows the rulea of valid
s¥llogiam AT Moreover the term
Painiers’ s distributed in the major
promnise wy well s in the conclivsion,
[ 151
s
8 —F
Valid conclusion AQQ s here.
Option fe) can not be correct becanse
miner term must come as a subject nf
the conclu=ion.
Conclusion {m) ingically follows but ba.
cause of the fallacy of divizion it is
invalid, {_e., cotlective action can not ba
copsidered an individual's action.
Cpticn da) ean not be vabid becausesst
suftera from fallacy of division, Cpiion
() and {chorc alaoiavalid. Now@€orTiet
=xvllogiam is

fif All religious

sorruption
(i} Heis a relipiousanan.
(Con,) He hatés corruption.

The option (o} whidh seems to be
correct i1z actually notieorrect because
af the fallacy'of accident (b} is also not
logical infevence and () is irrelevant.
Here the conssqnent is denied (which
musbbel Andypositive snieesdent will
bétome, negative. (In hypothetical
sylluurtsmy cithey antecedent is affirmed
oeeonscguend i dended as the case is
here ],
Heare the aption (3) seems to be correct
hut beeavae of the fallacy of the middle
term it 1s wrong. AMiddle term ia not

people (hate

distbuted eithor o Lhe IHMT 4T
minor premiscs and Lhus there are Zour
terms,

O, {dy: P

g ———0 P

IIad the middle term ‘round’ heonfdize
{ributed the conclusion would“haws
Bean rizht, 1o, "ATT” com bifaiion s
oot thiove 1 figure Ko, 2. 80 option (al
ar £ 18 nat frua,

10, (dy: i F
- I
= P
Comhnationfof AEE 4@ not there in
Fiore 1
11. {ai: P 5
g —L lar
8 ~——_ F

The gonclusion (a) is logically vulid ba.
cayge if one of the premizes to negative
thee@tclusion will alan he negative.

F20gd - hd F
M )
5 — P

{Uombination EEF is not there 1o
FFigure Mo, 3 &0 optiom (o) s nat correct
(Hule No. 7). Mureover ne conciusium
zan be drawn from two T premises.

13. [a]:g'IS
=

Valid svllogiam of AAA iz hors
which g there in Firure Na, I

14. {d): Two particular premiaes vield na eon-
clusicn. (Rule Nu. 7).

15. (d): Option ) iz nnt correct Beeause it
suffers from the fallacy of divisions
Mohan speaks nglish but it is not
clear that Mohan docz not speak any
other language, 8o optien {d) i3 corroel,

18, ¢dk Option (o} seems to bo correct but it
au:tlers from the fallacy of accident anit
15 invalid.

&)
A
F




conelusion  must  be bBased on
probabifity.

18. (d): There are four terma. India, Rengal,
Bengal and UP. hus middle term

has double meaning in both the

premizesg,

9. (ck P M
g — 13
] r

Dirertions: (ne sialoment ie gf-uen
Cfolfewed By oseveral conelustons fn oeorh
qiestion. Choose the right one among the
alternatives given.
1. He iz an histerian, so he can not write
navels
() No historlan can write novels
fb) Soree historians can write novels
fe) Historizns can seldom write novels
ferd Al of these
2. Thia man can't succeed because he i not
truthful
et Those
Lruthfuf
i) Al truthful persons succeed
(e} Only suecessful pereone are truthful
A} None of these
8. He does not mo to the mosque 2o be (o not
a true Mislim
f&) Only true Muzlims go to the IMoEqUE
fi) All true Musling must go. to the
meage
fe) Some who go to mosque afe tete
Bus|img
td} Nome of theze
4. [Jevd isan enemy because he'Bertives the
poople
() Those who devnive shegpeople are
STICNLIes
{b! All those who deceive the men are
dowla
(r} Enemicadzdeave the people
() All of thipse
5. All rightthinking people beliove in fate
fe} Sorde who believe in fate are right

who con yet suecess are

ettt it = Rt LI e WU TR B Y iy

W hmh is based on Figuare Na. 2,

20, (b M r: F

10.

h P
I'Iem the second premiss is the major
premisc and the first one is the minar
ome and the valid syllopiom of A i
here,

thinkine people

iy No right thinkiog peuple doofint
belevein [ate

{¢} Tho=e who believe in Late_are rght
lunking people

) All of <hgae

Tt iz obviously fales that dmra.tur-: alwayy

retive voluntarily

fu} Bowme who rotire voluntasily are net
icbators

th! Many who gelivg vplunrarily arc other
than dewtstord

fe) Dictators rarelyretive volun tarily

i All of theae

- ARt [1Stess 15 nat gold

o)l hlunythings that shine are other
Lhen gold

{B! Whalever shines ix other thun gnld

{1l s not the only glittering substance

el All of theae

Stma students ave disturhing

fi) Eome disturbing are students

(&) Some students are not disturbing

e} Both of the abowve

fa] Mone of these

Al sludenta are not geniuses

i} Many stndepis are not genivs
bl Al gentusee are students -

fr) Mo gtadentz i3 genius

() Wone of theae

Sowme doctors are net pelicemen

(it} Bome doctors are policoimen

B} Bomepolicemen are not doctors
fz] Both of tha abowvo

fd} WNone of thesze



2. (h

}: The word ‘20 declaves thal all
hiztorimns cun not wreite novels.

) The sentonore iseselusive. Had he boen
truthfb he would have susecedod. 1t
olherwise mweans 211 fruthiul peraons
sucesed. Thruble acgatives used m &
sentence nuks it alilrmanive.

. (d}:

T.id):

1he premise and {¢) s the disterted form
Iz lagic always 1% the converied form ol
sarcly.

Optiae (o) is the comverled facm of the
oreteise and option (@) is the obvermed
form Oplion (A) means that glitening ikl
the quality ol goid wut it 5 some hing clse

4. By Option @) connot be correet hecause that makes gold glhier. :
thers mav be athor reasons o go to the | 8- (e Opling {u) is the convertsd form and opnon
FILCHSC] R ';;uf. aption (hiis corrert. (£} is the abverted form ol dFeSac nhse .

4. (a¥ I devil ceases to Seertve the people he | %{a)s Here premise 'E is cooverted nleprermse
will moLvemain Uhe enemy. 2o option (@) 'L’ which is logically yalid agcording w the
1 only correct. validity table.

5. (d): Oprion {a iz the converted form of the | 10.ick Option (ad §s the obaertizd e arl (s
premagce and ob; iz the ohverted form of the converied formn of thepremise.

Type III
Directions: dsspmdng fhe sidlement %, Statement: Some of those who are able to

gieen ofolrst ench. guesiion

fo e Lroe

detern irne whathar tne ronclusion thet follows
g trae, folse, gdonhiind or drrelecont, Ooiion fa)

L5 for

frue. h) for frtee, iof for doubiful, ond (o}

far irrelenont.

1.

2,

=¥

. Btatemani: Some whelaro

Staterment: All esndents are not 1age
Cupe: No stodont iz lamy.

Stalement: A fow o7 those wholare
willtng to tell their age ave fofila

Cone.: A lew [vols refuae toiell theirage.
nat/ very
comnlused are other thampeliticiang.
Cone: Any one wlods a pofitlcian is very
cenfused.

Statement: Few politidians can stop a
popular revall,

Cone.: A few who are able o z0p a
popnlar@esnliare slher Unan kings.
Statement: WAl who sare immensely
skillful'spe criclketers.

Gone: Some cricketers are immensely
sl Hful
Statcrcnt:
wtelligont.
Conc.: [ntelligents ave blinde.
Staternent: All snakes ave poisonons,
Conc.: No snuske is non-poisonous.,

Somo blinde  are  wvery

10.

11.

12,

14.

14.

15.

1E.

tallz are leaders.

Cofic.oSome leaders sre ol unable to
el

Statemeni: Few people read The Times
wf India’.

Cone.: A& fow people read “The Times of
India’.

Statement; Students never study early
L The morning.

Cona: Those whe study in the morning
arc othoer than studonts.

Statement: Only treaty breskers are
COT M Unisks.

Conc.: Treaty breaking 1s the part of com-
MU

Statemeni: All that glitters is not gold.
Comne.: Some ghttering okjects ave gold.
Statement: Talles cannot manape
vrocodies, .
Conc: Few babies can manage crocodiles.
Statement: xa mAarriage iz
1nsurccessful.

Cone: Some marriage:s are successful.
Statoment: Some dogs can not awim in
the river.

Conuc.: River is for swimming.

Statement: No teachor  commits



rmstake.
Conc.: All teachers commit wistales.

17, Stalement: (11 soldiers never die.
Coane: Some old soddierz don't die.

1%, Statoment: Kvery criminagl hag his day.
Conc.: Some ¢riminals have their day.

19, Statement: 3udents never fail to be
dilirent before their exarma.

Conc.: A lew studenls fail to be diligent
bofore their cxams,

20, Statement: A few of the wise lack furmal
aducation.

Conc.: Many o7 the wise do net lack
formal edueaticn.

Dircclions: Assuming the slatemend
given ugoingt egch question to be false
determine whether the ronclusiove that follans
is trua, false, dowhtful or irrelevant, Ontion (o)
is for true, (B) for fulse. {o) for doubiful and (d)
for frrelevand.

21, Statement:
hmitity.
Cane.: Many of the braves do not or de
[k humeility.

a2 Statement: Almost evary one favaurs
liguor on campua,

Cone.: Every one favours Liquor un
CAIMEES.

93, Statemenl: Whoever 15 just never fail to
b happy.

(lome : The just always fail to be hapny.

I'ewr of the braves lack

24. Statement: Witcheraft s seldom
practized legalty. :
Conc.: ; Witcheraft is always practized
legally.

25, Sfatement: At [past a fow exepfisce Ll
loric are tough,
Cane A least a few excruised in oglo are
ot b,

26. Statement:
dishonests,
Cones A few students gre dishonests.

a7, Statement: Avgucenia arg never wol
Concs Arcurdants are alwayg Wi

grudents| arg not

All

u&, Statement: A fow acts of agpresson are
Aot ungustifed.
Cone.: At least one wel af ageression is
unjuslilied.

ag, Staterment: Al zoldiers aw: not brave.
Cone: Some zoldiors are brave,

u0. Statement: 4 {ew lions are not viciows.
Comnce.: No lion is viclouws.

Directions: Twy stotements ore given
foltoweedd By o conclusion (n each of the
fnllwing ruestions. Mark {m) if cofelision is
true, (b) if 1t i false, (c) if i858 doubtful, and d)
if It In rrelatii.

1. [ During puja days peaple visit thoaé
houses whers puja iz performed Hiey
o there cven if they are not méted
1I. Barma visited the house of Raja, his
affice colleague during pujé davs
Cone. [ BRuja’s house puja #as
porformed,
32 [ If there 19 a calemity. l@adera go
around the affected artea
[l. They mect thessictims and promiss to
help them.
Conc.: Such swfiipathetic wisits guve
assurancE Lo victinesd
88 1. Indign students who go abroad dn
well,
I {'hevare offcred a job there as well.
Congl: Thesr counlries want to retain
such ‘ma@ter minds, o do not let them
return.
1. “Hindus are allowed to have only as
wile,
11, hlusiims ave allowed to bave fotr wives.
Cone.: [n Hindus she ratia of men and
women is almeost cqual hut in Mushime it

s

] 4
=5 [ Rabindra Math Tagore wrote many
PUOATIR.

1. Rabindra Sangeel iz very swoct.
Cone.: Tagere hireself composed tunes for
his poems which are knoewn as Rabindva
Bangeet.

EXPLANATORY ANSWERS

L (h): 1 phomiee by is trae premisc Bowill be
falae

2. (ay: HMafew ave willing., a {ese must refuse.

3, I NCmrect conclusion i ‘politizana are

generzlly ronfused,

4. (d) The word king’ makes it irrelevant,
The rerrect conclusion i Ne' polibician
cun stop a popular revolt.



6. (e} Conclusion iz doubtful,

7. (a): "A' has been obverted into '

2. {a):

3. (b): Few means no and thes it s premise

B lfit e popract premise T can not b

correct. The carvert sonclusion is "No'

peaple read “The Timoa of Tndis *

10. (b): Students seldom atudy esrly in the
marring is the corroet eonelusion.

1L (ek The right conclusicn i= shose wha do
not  break the twrocaiy are nct
COMTLT LTI AT

12, {ak 'All that” means sure’ and  Lhe
conchugicn 17 an obvertad form of the
pramise,

13, (h):See the walidity table column firetn
where 'A” iz correet but ‘B 1 falsc.
Ceoncluswn i= preamase E becavae Tew'
mEans 1o

14. (b); Tl stalement is the vbyverted Grm af
“all maurrisges are zuaceesshol®, 1L

T means that some swecessful  are
marriages, Here the premise ‘1" @ 1rue
et the premiac ‘I will be false.

16, fd): It a premiess (). [ta chverted furm
‘aomea dogs can ewim in the plved’ i
dnabtful accerding 4o the tahle and
“dogs can awun in the riverf pvamize
Al is [alse.

16. {b): Ifpremise T iz trae pramize & will he
Talee but premise 4@ 7o “some
teachers Jun't compmil mists 1e” is treo.

7. (a) If premize ‘E" isltrue premise '0F will
alzo be drue accerding to the validity

e mmrmm peeamamn e e e a1 i
alsu bBe Lrue.

18, (by:Tfpremise T is true conclusion ' will

e false. H# lrue form 15 & few

studenis do not fail Lo be diligent

belore their cxams, (premise 0.

Ifpremise T 1 truc corelusion 'OF #10

b deubeful hut it s near to ke e

T premize T 1 false, zonclusicn 0 will

be Lrue,

[fprentise T is false condtsion A% il

also bz falze soeovding e che waliding

tadily,

I preanise B isfalge condusion 'A7 will

ke doubtful Lol nesmeo be Lrue,

1t is most likely o be true Lecause

seldom jsdhe ioverde of alwuye.

If premise A1 is fulse concluaion O

vrust he gy

U prersefE 1 false conclusion ' will

lie, L. _

Aok Hpviese 15 is false conclusion a7 will

be daobful,

28, (a): Wpremize 'O s falae conclusmon T will
L Leue.

290y

30. (hk

31. {c): Rama might have pone there for cther
PUrpnacs,

32 (a): Promiscs always give assurance.

33 (e} It is coly a long drawn ane,

1 (bl Very fow musltims huve more than
o wives even 1F thoy are ullowed 1
hawva four.

24, {e):
21, (a):

22, (h):

22, (e
24, (ak
25. {a):

28, (ah

[ 4]
=

ab (dy

Type IV

Directions:) It each of the [ulltining
Questions there @riwo stutements follmped fry
Lo co@lutfans, Disregording the commonly
krows factsand applving the rules of fugic
miger (Wb f only comcliuzion ¥ follows from the
sfalements, wmurk (8 i ondy conelision IT
follpis from the statements mark (o) if boih
jatime from the statements and mark fa) if
neithar I rnor If follnws,

1. Statoment:
{i) Foothallers ure gomeraily healthy,
{1t} Rashid is & pood fasthaller.
Cong.:
(T} All healthy peragns are foothedlers.
{77} Rashid is healthy,
2, Statement:
fi) All meen are chairs.
fii) All chuairs are tubles,



Cone.:
{1y All men are tablee,
S (I Serie chairs are men.
3. Statzment:
(AT boys are Tivers.
(7} Sume Tivers are girls.
Conc.:
(1) Bome givly are hoys.
70 Some Loys are gods.
4, Slatement;
fi) Some bags are whitc
{ic} Horne non hags are Loothpastes,
Cone.:
f1) Home bags are tabiea.
() Some whiles are hags.
Htatement:
i) Some pote are cups.
(i) AN cups ace rats.
Cone.: -
(I Some pots ave Tats.
{Tr All pota are not rats.
6. Statcinent:
i+ All apples are bananas.
fit; All hananas are sweets.
Cone
{7} Bome apples are sweats,
{T1) Some bananas arc apples.
7. Statement:
(1} Some poets axe foals.
fit} All fools are rich.
Cona:
1) Bome Tich are poets.
1) Some foolks are poets.
8 Statemeont:
(1) All graduates are YDowTiiers,
fil) All typowricers are hoasly,
Conc:
I All gradustes arc hisats.
(th All boats are gragdustés,
9. Statement:
{i) A1l cinemsgatars are rivers.
fii} All rivers ciak slond chips.
Cone.:
(D Somclgataara tinema slars,

[=y

(I All'gineni® stars aat stone chips.

10. Statemeni:
£l Al the honesl people are mats.
\Ti) AlDrke mata arc politicians,

11.

12,

14,

15,

16.

17

14,

Conc.:

(Tr All the honest people are politicianz.
A1 Some polilicians are honest.
Statoment:

i} All the dowe are cats.
fiiy Some eatz are white.
Cone.: .

1 Some doga are while,

{7F) Bome vals are dops,

Statoment:

fi) Bome tables ave gluszes.
fir) All trecs are tavles.

Conc.

{7} Hnme treos are glasses,

(I Sonie glasses dre LICee.

. Statcment:

{i) N mamn 1= a eat.

{1t} Ilamid is a man.
Condc.;

(7] Harniel ia 7t & cat,
(70 all wen are nol & cat.
Statement:

{1} Some chails apd hans.
{ii] Table i3amelalf.

Conc.: :

{0 Barne bions are chairs,
(I APable 1= @0t a Hon.
Statefment:

it All plancs are huses,
G Al busen ave care.
Canc.:

) All buses are planee.
([ ANl planes ars cars,
Statement:

I foothalls are made of iron cricket

bats are made of wood.

(ify Cricket buts sre not made of wood.
Cont.:

@) Foathalls ave not made of won.

(ff) Foothalls axe mnade of iron.

Stoterment:

fi} Gomeral rules the arny.

i General’s wife Tules him.

Cong.:

{7} His wife rulea the army.

(I Army iz ruled by a General.

Statement:

i) Al birds bave winge,

i) Bats have no wings.



10,

21,

21.

23.

4.

6.

26,

{7 Bats are not birds.
{IF) Thnse who have not wings are olher
than birda.

Statement:

i) All wives are women,
(3t) She iz a woman.
Cone.:

(1} 5he 13 a wife.

(24} Only she iz wift.
Statement:

{t) Teachers are soldicra.
{it) Snldiers are farmers.
Conc.:

(I} Teachera are farmers.
(f Taymers ure teachors.

‘Btetement:

{t) Some applea e yellow
i) Goldem iz an apple.
Cono.:

I} Galden is vellow.

{ID) Surac apples are groen,

. Statcmuenl:

fiy ALl cary £l
i} Some biliea £y,

Conc.:

£2) Adl cova are bikes,

(N Bome hikes do nat Ay,

Statement;

(i} Some crows are dogs.
() All dows are faithiul,
Cone.:

N Some faithful are crdwe
i Some fatthful avedegs.
Statemenit:

(t) All tables are anta.

{tt) Bume anta are chaivg,
Conc.:

(T} Bome Yables are chaira,
(I} Bumie chairs'are tahlca,
Statcment:

ASome: conks are lazy,

(it AllBEre are lazy.
Cane.:

1) Some boys are cooks.
(&} svme cooks are hoys.
Statement:

(i) Moet traing are pentlemen,
(12) Some gentlamen are tanks,

2R,

29,

a4,

G4

33.

34.

L RN T L

(1) Some tanks are trans,
(I} Some trains are tanks.

. Statement:

i) All {Towerz are boawtadul,
ze) All flowers are mrls.
Conc.;

{1} Some boautifuls are sinls.
(I} Bome girls are beautiful,
Statement:

(i) All prizamers are edueatdd,
(i) Mo man s educated.
Cone.:

(i No man is & priscicr.
[(f] Ho prisomeT iz marn,
Statement:

(i Aul potutubs are birds.
(@) Bome porgtels are books.
Cone;

) Sorac hoolfs e prratoes.
[kl Bouksarc bivds,
Blatement;

i ATt dogs bark.

(i} Bure dngs bite,

Conc.:

- (1) Those dags whe do ot bark alzo bile.

{I) Barking dopgs seldom bite.

. Statement:

{i} Some ollicas are hotels,

fe) A1l hntefs are clubs.

Cone.:

(£ Bome clubs are offices.
() Bone wlfices are ot eluhe.
Statemeant:

ft) Some roads wre footpaths.

{#) Some highways have footpaths,
Cono.:

I} Bome lughways do nos have footpaihe.
(I} Bome highways have roade.
Stotement:

ft) AN warkers are teachers.

G Al woiterz ave Leacheors,

Conc.:

(f] Some writers are worlnee,
(Ff} Some Leachers are worloera,
Statoment:

() AN Americans are eithor Canadianz op

. Mexicags,



fi) Some plates are CURS.

(i} Snme qups ave spaond.
Cone.:

(D Some plotey are spOOTLS.
(I} Bome cups Ave not s

iiid Moel af the Mexicana ave not white,
Conr.:
(I} Mo Canadian i@ Muxjcan.
171 Some Americans are 06 whita.
35. Statement:

EXPLANATORY ANSWERS

1. (d): M I &)
s

5
Concluzon  ¢f) 15 irrelevant andd
conclugion (1, AT compinaton which
goems to bo valid suffors Trom the
fallacy of eccident because of the word
‘renerally’ used in the statement. 7. ()

=

2. :
(© Fables

&. [F.l_}: Bails
g.(dx P bt
I"-"I S / Tergatilr
5 P @
Both the conclogions are not correst \ \\‘ /
because ALl iz ot g valid syllogsm v
sceordicg to Ngure Mo, 4, Here major
premise ta A premisc, minor preguseyl 9- {b):
s 1" ooe snd cemclusions are also
premiscs.
4. {dy: No conclusion can be dyawn [Fombwo
partienlar promises. (Acgording o rulz.
No.Ti Mope-over propemibaums L, L.
wome hags are white) 15 sunwerbed inko
‘wemne whites are hags éo doonnd comelu-
sion is alen not ot

o ireiang

i, el

S

5. ok

1L {b»F Il
il 5
g —— P




16 GUICLISMON b Correch Docalse 1t LS
the eomverted form of the statement
fiezt but atatement I cant be corrcet
Lecauge the muajor term eannot be the
aubyect of the ennolusion.

15 (ck /,.f" :
f “\J o
N/

14. {a): /;L\
| G"‘\I }:

"t
15. {d):

16. {a): Ina hypothetical syllogism dpnzequent
is dented that is the cate hHere and if
kath the causea aredd affiemistive then
antecedant will also bedrtiegativa term
because of tha conditional phease,

I7.¢d): There afey, four terms in the two
stalements 300 b conclusion can he
drafin beeause of the fallaey of the
nddle terny,

18. () T M
SR

g ——PF

Coneluaion (T)is correct because AKE i
1 valid evllogism .

Arccording to figure No. 2 Conclusion
(LI 15 also covrect.

12.4d): I M
s —— 1 i
3 : r
Conelirsion I i3 wrong heesuse All e
not valid. Corelusion 77 1g also wrona
beooatas 1t can ot be exclusive #v the
word ‘only' here shows,

21, {d): Cenclusion (T) is notlcorrest becanse
T 13 not o valid syllogism and
comclusion {UI) iserrelevranl. Moreovar
na ronclusiongdanthe deawn feooi two
particulars Fismdtive (1) promases.

22, (P 5%
o) :I N

e

Caneluzion | is not correet becauae the
major werm can uot be the eubjeet of
the concluzinn and conalusion 11 iz the
converted form of Lhe second statement
of premdse T intn 10

23 (e P af
M="" &
5 I

Concluatan T 1 eorrect boecavee wulid

avlmwiam of TAL i hese and second

comesusion is the converted form of the

econd statem it

24.(di: P M
I'.,.'_[Z b
= P

Comciuzion (1t} A" 49 nod valid
aernrding  to figure No. 4 and
Cimelngion (§) makes: wmajor fovm as
the subject of the conclusion so it is ul=a

WD,
a5 (di: P Ml

R

5 F

Crnclusion s nol valid (AD acenrding
Lz the figure ard cenclusion (10) males



28,

28,

0.

31

()

(i E

{d):

the major term as subjese of the
canclusiun,
Mo conclugion can be drawn from 1wo

parkicalar premlses.
Ilawirs ( Plowers )
©) @
' -

!&,mullrla\

{ak ? A
N -

s F
Valid s¥llegism ATE is therein figure 2.
And eoncluzian (1) can not be eorrect
becanize major lerm is the subject of
the roReusiom.

ay v P

A

§ ——— ¥

Conelusion 1 is corrset beeause valid

eyllogisim of AT iz there in Figare No. 3

bul "M A7 iz net o wald avlloglam

accarding Lo the fisare so canclusion IT

19 1ot Correeh,

Middle term dogs iz not diswedated

here ao no conclusian can be drawn,

And vonclusion (110 is a phrase onls

ey P Y|
Y| s

e

35, (b):P

Type V

Directions: In each of (e following

questions dhere i3 no stabeient @8 shoet
paragraph jolfowed by o congliiions § ond
11, Assuming the statefnentito b (rue mork -

() If only conclasien | follows,
¢B) [f omly conclusiamdd follows.
fo) hothDane 11 follow,

{e/) 1 deighen)) nor 1 foilowsa.

1. Stotement:UPyou are a good doctor wo

have definitcly a case for you
Gen)l: You are a good dostor.
Comil: We ave in need of o gond doctos.

2, Statement: Viser peoplaseldnm help the

TIT.

. Blabement:

[N LA Sl I ] I’i'.l]:.’l L)=L-

= F

Valid syllgizay of 1AL s here and (F1
conclusion is the abveried - sonvertod
fore of the statement (L,

32, {a)k No conclusion ean be drawn from two

particular (1) premises st eoncluson
A0 decs mot, [ollow but eonchusion Tiz
the obvarted form of Ghe statoment
seenad.

L)
S
f — = F
AMiddle  teem Cteachers Qs HEE
dagtribuned gt all se no eogeiusien com
ha drawer, Moreower SaF 17 116 1 vialid
avhingizm according solfizpure No o 2.
And conelusion 1) @ the oommedts-d form
of the Awalement @ go (s correcl,

54. (e} | American= are naly&anatians, they

are Ve cams, it soime Moxionns are not
while, it madis sk Aol are
alea not afhite, Comelusion TH sl
frlltws hecalee of Lhe word "’ waad o
the statement.

a5. (B): Curclision Tdoes nottollow becanse (m)

fio tnnclusion con bo drawn Frow bwe
padtioaiar premises (b reafor Lerwan
ot be the subjocs of Lhe conelusion. Arnd
conclngion 1 is just e abrerted [urn of
theslatoment i)

Con, & Theas who are niacv nover Lelp
this .

Condl: Poor are vovy varely helped by
the mizes,

Sipce  the froling of

guperiorily ik built in whercver (hera is

aocial developmenl, thern is 1 LEtle tha:
cam bedone to arreat it pxeepl 2t the cost
of social dovelopment.

Con. I I'o muiniaitz soeial developmenl
complex shotld by alluwed to con-
tinue.

Con.Il: Secial develcpmentt amed com plex
rur side hy side,



4, Statement: Recent rescarches hnve

shown thist piriples have their reat caouse

in the liver,

Con. 1: The medication for pimples
showld he adminiziovnd to the
Liwer.

Con.II: Ichaling of alzams is of 1o use
tor {his purpore,

. Statemeni: TL in written m histgry

books that most of the battles which tonic

place amoug rulers were fought for
amazanp wealth and beavtiful women.

Word War | has a backpround vory near

to L.

Con. [! If moncy minded people will
Oourieh, World War [l may
starl.

ConIl: In ofden davs wealth and
heauliful women were the major
concerns for rulers.

. Btalement: The veenns are etore house

of praclically every mineral including

H80,,. But like most other minerals it is

found in cxwremely Jow concentration

about 3 grams par 1000 tana of watcr,

Couw, E Sen water containg stlver and
o,

ConIl: Gold 15 found about 2 grams pedt
L) tens of water,

. Statement: 1t 1z evident [rom the

higtorical informat:on thatgevend in

ancient Indis both the muasters ‘and
disciples valucd oot tho“Gluntity of
education but ita qualitys

Con. I: There waz fangdidontiiy in
educational wdlues betwoen
teachers  and W8tudents in
ancient lndia. :

ConIl: Qudlity of education is valued
and BEvED) more importance

thamyguantity of education |

toidar,

. Ffatcment: Domestic de:nand has bean

incregsing faster than Lhe produelion of

Tndigenons crude ail.

Con. I Deficiency demand will kave to
be met by import.

ConIb: Thers iz no ueed o cut dom cetie
demand of erude oil.

9. Statoment: The disparities betwecn the

10,

11.

i,

18.

14.

problers of rich and the poer o oot
stand oul clearly when we sompare the
attitude of the law malkow bndics
towards these bwo strata of the suciety.
Con. T Parbiouncnt do nesl discriminate
belween rich and poor while
lormulating policies for them,
Con.Il: Law makers do not héve
wdentreal attiiude towaeds the
haves and have nots.
Staterment: 4 malwdjusted s 2 non-
criminul who commits mime foethe sake
of adjuatment.
Con. I: Some crimes have their roul
cauza o adjustmehiprohloms,
Con.Il: Maladjustment il
delingliengy zu hand in hand.
Statement: Condtinibional movality is
not 2 natural centiment.
Con. I: Santim3nts are alvwars innae.
Condlz Constittitions] maralily can be
allliveted.
Stalement: [n a police encunter 5
torrorigtdnd 2 soddiers weore killed snd
arg injured sorigusly. :
Lon. [: The clach wasz oot unezpeclad.
Care.ll: The only injured was tha
tRYTOELAT.
Stalement;: No new tax has breen
propesed in the budget of 1997-98. 11 is
still a surpli: budged.
Con. I: The buwdget of 1997.498 may e
cemsidered A gond Budgase.
Con I 1937-98 budgst ia a surpiua
budget because no new tax hus
buen proposcd.
Statement: |t does not maller what
type of lood vou eal What matters iz
whethor you ean digest il
Con. I: Anv lype of food i equally gond
as long as it s digestod.
ConIl: The type of fond one exst, is im-
material, _
Statoment: Now you need oot have an
impert lcemce to own g software
e puter today,
Con. I Computer softwarre are madr
indigernoualy, ,
Can: Duty lree compulers are row
availablo,



16,

1%,

21.

{ L]
LT

Statement: |fHlue is heavy then vellow

= bLght, 1f red 1o light then gresn Is

medium bul blue is heavy or red iz light.

Con. I ¥eliow iz light or green is
trcedlnim.

Con I Fellow 18 red.

. Statement: The best way to ezcape from

a problam s to sclve it

Con. I Your life will be dull if you den't
fieis & problom.

Con.l: To cscape lrem = problem
demand some eolution of the
problem. ’

Statement: Good 1v the snemy of vest.

Con. Ir You sheuld he prod Lo your boest
ATICY.

ConIl: Best donut Like the wood.

. Statemont: The cssence of one day

evicket ia the abilily To seore xuns fast and
te bowl with a miztuee of conerol and
g roesion whish adroidy haodled con tie

‘the opponent hand and faot.

Con. I: Kapil Nov wha won the World
{up in 1983 had all the aboer
gqualitics.
Aggresaive bowling as well s
faar seoring of runs are equally
mdispensable to win 1 une day
cricket mateh. :
Staiement: Magority
democracy. '
Con.I: Tn a demeerazy cundidates 3T
slocted by a majority of voles
Con1l: Majoricy have the Dogor | to
amend & law in parliacient in
demoeratic ot up.
Staterment: ¥V harealflmot my brother i=
not known sinec he Ll this place last
vear by thal unlucky bugiwhich cellided
with o lruck@ear TPatzelasd,
Com T: My brather@eas killed tn the ac-

Con.Tl:

rules  1n A

iclvit
Cond % oheion of the bus and the trutk
iz “¢he  reason  pehimd omy

hrother's missing.

Mtotoement: Strikes are the imheront

riphtd of workeras for the purpese of
SECUTITE juslice.

59

26|

1=
=1

25,

(on. [: Workers cap nat get juctics
unlesa thoy go en sk,

Con JT: Fvery worker meaal defend hos!
her wherent vight,

Statement: e greatest need of India

Loday is Tk of soed rescarchers but well

triined peachars.

Con. I: Indis doca not neerd resourehers
today,

Con Il Hesnarchers ava leasl afiachod
with the umversahzation and
yepulariaarion of nualiy educaremn.

Statement: bt is risky to Lcavedifrom

Jammu tn Baramuia hecawsc of thejag-

Zag road.

Cun. I: Jammu  and  Tardenls
vonnoeted by s st

Con L Thersis no athar micidns of trans.
portation  [venly J@mm.a T
Biranuila.

are

. Staternent: Hooks wothait inowlsdge of

life a7 useleos:

Con. I A1 bookedontain koowlrdege of
Life.

Cofl Ik Pepple chould be ansinus to
aeouive the knowledge of life,

Slafement: All that glitters 15 not gold,

Con. B Judgoment gheuld ot
cxelurively e meade on Lhe haziz
of the pppearanae.

Can.1l: Gold does mint zhine at all,

 Statement: Thix bock is oo coatly o be

worthloss.

Con. T: When buoks fall short of supply
tlicnr prices go up.

The higher the z=lling price, the
superior 18 tae nuality of Lhe
crrn mead .

Statement: Apars ‘rom the educatimal

{ConJl:

©value of newspapoes their roerealional

24,

valnes ahoeld alse e kept into account.
Con. I: Paople take newspuavers Lo be 2
means of imparling sducation.
The entertainment value af
nowrespaupers i alzo of peramouni
naportance.

Statement: [ have nothing excepl lhe

Con.JI:

© reality of ignoranen.



Con. It Tre world of knowledge is too
vast o he explored by a single
[T,

The wiiler iz ashamed af his
poor krowledus,

Con.l:

30. Statement: Books arve like frfends whn
give rich and Yasting rewards.
Con. I Always choose rich friends ke
brnolza,
ConIE: Booksmve us efernal satiafaction.

EXPLANATORY ANSWERS

1. {(b): The comsequent is related with the
antecedent. The word “definitely
rlarifies Lhat we need a doctor.

The wird seldom 1a very dase ta never
the very rurely’ is also very nearto it
and I conelusion is the passive form of
ihe statoment,

If'we remove superionity complex from:
the mind nof the people we wil!
leapardhise social development.
Conclazion IT dees net follow hecanse
there iz e refercice of steam i the
statenend.

The stalement claribes that there were
sone exeeptions Lo this purpose of war
sonething can be definitely said about
a war in future. Mnorcover money
minded penple and kings are not the
eamc things. .

Kvary mineral ia found i oceans Gud
dalen 1N low concenteubions butdsesnd
comelugion does not ollow be@augelall
mincrale are not found in thelsame
concetilralion, 3 grams per 1000 toné of
water concentrativn has® Been, used
cxelusively for 2451gm

Corclusion |[ also follods because of the

2. (o)

Ak
4, (a):

b (b):

B. (a):

7. (e}

word “even” in the statement that |

makes it a peported speech of indirect

narrador,

Conclusionih) 1s not correct beeause in

ordcrio kecp” a balance between

productionotoil and domestic demand,

theylater must he cut.

Sturlythe attitude of parliamentarians

towards rich and poor separately, Ifitis

idenlicsf then it will be difficulr to

distinpuizh rich and poor on the busis of

their problems.

10.4e): Buth the conclesisns can he drawn
from the statement but only one
ponclusion w111 he correct at une time.

5 (a)k

9. (z):

Thus either T follovars or 11 follo@s

11, (h): Bentiments are el oval and.ewl i vited
both according to 1he statdmern)

L2 {d}: Eneounters ave abwavs uncapecied, and
the pereons who wa injurededt oy
thera, may either he a wBldisr or a
Lerrirrat,

t3, (ak If burden of tax does nob inereazc cven
ther it iz abl: W mest the budgetary
requiremenl of thé covernment, it s a
good hedget.,

14. {a): Immaterial 4 the oppoaite of materia
Tk od M tter,

15. {d)yLiberuhzation dowss not neceazarily

mgan | That people have  starled

produene comp ulers indegenously and
ruatom duty and i port licence are not
identical in nature,

In hypotasties] affirmative syllozism, of

antecodent is affirmed it consegquent

must be denied.

Conclugion [ i ireelovant. Second io

also not implicit becanse there are ways

other than its zoiuticn for egeape.

18. (d): Conclusion | and II hoth awe nor
implied, e.g., if we dun't lile aomeone it
dees not mean thar we are enemy of
that parson.

1%. (b): Comelusion 1 iz nol imphcit beeousc
there iz no refavence of a pariieular
tricketcr in the statement. '

28, ek Both the rondusions [bllow from the
slutement separatcly. So eitkor L oe TT iz
COFFRCL.

ek T and IT both the conelusions prolably
fillow from the statemsana,

22, (d): Corvect inferenee muy hao:

fi) 1f justice is not being given to
warkers, they have the npht to go
onaLrikes,

fii¥ No onc haa the might to prevonl
workers going on strilo,

16, (o)

17. (d):

2

)



B, QIMILUTICIWELDIL 1 L& Wiy enms s —
statement does not talk exclusively but
refors “the greatest need of Indig” and
1] 15 alsn probably Leae,

24, (a): Nu auch problems wrises i rail o aiw
cervices so 'bus seTvices ia the only
possibile vplion. And there are utker
meane glen and land ways is visky
among them,

25.(d): Lind 11 bovh don’t follow fiem the alagz-
MEnL.

—re g

inference and II one is a logieal ane,

-27. (b1t vlherwise means This the hooky s1a

gn cEpensive fhat 18 can 0ot b
worthless (trapafnruai e,

2R. (¢): Both | and Ii Toalborw
statemoent,

29, {d): Every one in Lhiz w1 A= fpnorant
mamy Teapocty, 5o there 1= nothing o e
pehzened of,

20. (b): Conchusicn § s vrrals vt

from  the

Tyvpe VI

Directions: In each of the following
Gurslions o statenient is gicen follatced e b
Argnnet!s.
Mark vour answer (o) Lf only |15 strong.
Mark i/ if only wrgoment [T is strong,
Mtk ée1 ifbolh the argurients are sirony,
and
aatk id) if peither 1 nor IL s strong.
1. Statement: Shouldaducationbe givenby
the government [ree nf charge ¥
Arg. T Yes, n will help 1n Univeraa-
ligation of education in the
COVILLY.

Arg I No, therewill be budpetury dofieit
cresting 2ome now problems.
2, Statement: Shouid caste gystem e
hamned inthe Lodian socicty 7
Arg. I: Yes, il is a heavy barmer if the
way of speedy developmentef Lhe
counl .

Arg. I1: No,wwillgive chaneg Lol snsic
paople to run ik goyernaent
{hrough electives,

4 Statement: Should privatévssctor be
permitted (o entef intdihe public utility
gorvices T
Ary, I: Tes, theyagrd doing woll in

advanerd mestorn ennmiTies,
Arg, LN, itsrisky to put these aorvices
b priviaTe hands.

4. Seatement Should the government stop
giduing  to mincricy
pdralion”

imsliiutions ot

Arg. B Vea, their pors quabty a@well s
quantity of zrioeslicngs wasting
the fund.

Arg. IT: Mo, ruling pavi. will lose o= wote
hark in the cgminngelettions.

5 Statement: Should srtidles of only
doserving authors hegalivwed o bae
puhlished

Arg. T Yod it will save a lot of papey
whreh@allseihort ol supply.

Ave [ Mo, itEmil pogzible todraw o de-
mareiion between tho doaerving
audthe undeserying avthors.

& Eiatcment; Shoald mikitnty trairing b

made incurabent on all schan] and college

goifg atudents

Arg. 1: Yes, iL will inculcate discipline
among Lham.

Arg 1 Mo, itwaillbring rogrmentation i
educztion.

Statement: Shrald 1he pohieal partiss b

bhannec ?

Avgp L Yes, il 15 necessary 0 tew: oA
lessonto the puliticlans.

Arg 11 Wa, it will lead tran e of dewn-
CTACY -

& Statement: Should Tndia svpnott

popromie ltheralization?

Avg. I Yes it will boost vp industrial
dovalepmens lewling Lo moee
cupply af (e rommedity i1 Hew
PTiCE.

Are IL No, il is apainse the Mahru's
Aream of domoeeatic zocialier.

=1



10.

L%,

12,

13

14.

15,

— T N FIF I RN R TY

the wur]d
Arg I No, clw quality of Eealth care
sGovices will lelemorace.
Statement: Should the duration of the

pavhamentary government he 1nerensed ¥

Arg. It Ves, it will reduce the expenacs un
clectivns and  also  reduce
wnflation,
No, 1t will take lomeer time tn
rhange aruling party even il is
COrTUIp
Statement: The educated prople should
work i vilages,
Arg. It Yoz because they  can
revolutionarize agriculture and
zevamp the roral stmesphere.
No, because their cdustion
lught wasles there in villages,
Statement: Should movics full of vislense
he telecnsted ?
Arg. I Yes bocause children will sdupt
sucn behaviour feam flms,
Arg I N, becanac viclence iz the hewet
and zoul of all preturea,
Statement: Bhould guides published g
private agenizs he bannod ?
Arg. It Yea becavse only then students
willatart reading toxt bofilos,
Arg I No. because they ave of imrmie n e
help for woenk ctudemis ot e
eleventh hour.
Statement: Computeshaded tachnelogy
iz very frwiiful for ind e tei@l? desrelupment
in Indwa.
Arg. T Yes, afuracy, iaci prodicton
anddineness are poeakle through
Conm pritstbechinolopy.
i it wil| INCreass
uncniploymentin the countby,
Statoments Agrvicu'ture in [udia ahould
be Mpchanized.
Arg., T'%ou it would load to bphor pro-
duction.

Arg, 1T o, many villsgovs would be ofl

Ave |-

Arg. II;

Arg. IF:

17,

18.

19

20,

PATECIIFALE BT LLIe MANa e et of Gierories
inlndia?

Arg It Yea it 1w ithe
wunagcmenttheory.
No, many worknra are illitcrale
and thercontrihution will sl he
ot walun,

Statoment: Skauld thors bawom o #lied
minisrers By statos

Arg. I Yes, untr ‘her the gphigh= Nt
waortien will be rernover apdghoir
cortdHaon will imprave

Mo, s woman s oo gapable of
ruling a atate.

Statement: Shoujd publieucs ting auﬂ
con FDLE'HLEE b Lafiigd s aghe counteme?

Jresent

A i

Mro T

Arg. I Yes, U & ¢he place where
oppancnts aveabiused,
Arg. Il; No, it ds againsl fundanental

Filics @iven o citivens of Toudis: .
Stufement: Thould macs o edia be lully
eontrolled WP the sovernment?

Arg, L Yo, the o eontradiclory newsonly
conliees the people,

No, itseredialily wil | be doabtlul
Wmasze mediaizeontralled by g
erument,

Htatement: Shonld zex education be
given in schools ¢

Arg. I Yos. 1t i3 piven

LIONTEIES,

Arg.IL: Mo, it i naturallv gained whisn
children grow into adslesernee.

A gl

itt weetersn

. Statement: Should roligion be banned °

Arg. | Yes. ildevelops Lrnaticiam TN

- people,
Arg.Th No,  religion  Dinds perople
Logethr,
- Statement: Shoald Tiedis have noe oay
wWeapcLs?
Arg, I: Yeoa, 1 is noveszar Loy protest tie

BOVCILITY und incprity of the
LRy,

Mo, thiz will disturk the balanze
ofpowerin tha realon.

Are T



21,

25,

L
.

9.

3.

Arg T Yes, it damages the Liver and the

hag.
Arg I Mo iteill drivemillionsoftobaceo
worlkore o,

State ment: Shonld drivers be prohabited

o comaume Liquors 7

Arg. T Yes,inreduces the chance of un-
sontrolled deving of vehicles.

Arg.II: No, it udds to stamina in Lhem.

Sizlement: Shauid competilive tosts be

abjectivein nature?

Arg. I Yoo, ileives fairandimpariialas-
zessmoniof the pxaminaes.

Arg. [I: Ko, writing and organizing abadity
pan ot be gazeseed throuch this
tod,

Statement: Should income tax be evaded

by the peonle ?

Arvp. I Ver therate ofincome tuxisvery
ligh.

Ave. Il: Mo, itisillegal and unlawtul,

. Statoment: Should salestax be abolished?

Arg. B Yeos, it will eliminate  an
important source olesrruption.

A I Yoz, it will bring the pricesofeom-
wodities  down  and  hence
consumers wil' he benchited.

Statement: Should statc lotteries be

stopped ?

Arg. I Yez, government ehould noc
promote gambling habits.

ArE T No, government. will havegtn
suller loss of tevering.

Statement: Should higher edueafionhe

restricted lo the mest descrving stuidcents,

Arg. T Yes onlydessrvingp@ople argen-
titled w0 this luxmy

Arg IL Mo, iuis againsithe gringples of
cqualivy of cdivatianal
oppultunity.

Syatement: SHEUlD primary teacher's

B2

33.

a4.

B,

Arg. I: Yes, 17 wul Chonurage  dou
motivalethem e teachin abetiar
'L'-'H'I'p".

Mo, itwill ineyanse financial pres-
sureronthe govrermuent.

Avg. U:

. Statement: Dowood qualive producie necd

wide prbhHeity?

Arg. I: Yes, i the presint day world of

comprtition, Susfomers ran net

kpow abeut o now prodoct
withoutpreper puhlicies,

o, gond guality predicts auto-

matically alfrict custamers and

thus speak L thrasslvea,

Sratenient: | oo the ancival of AR AT

dietam [il tnday?

Arg. T Yes weak have vegg potgehante
of achieving ~adeihing i the
presentday worldulzompeiition,

Are, T Mo, woare girthiagis the ztone
fol=/=3 dn ot

Statement: [Tas the wedical svience

resilly lengthened the span of lite ?

Arg. I s, IhPnowidngs have buen able

ta @ombat Lhe disease= and

intteases the spanof ife.

by the etevnial truth Lhat overy

person’s days are numbered can

notboedamed.

Statament: [3 the vounpgest child happy

when o now baby tales bivth in the family?

Arg, I Yes.itizexciting fur him to have
a new memher in the family.

Ave. Il: Nohe becomes;ealons of the new
Tz

Statement: Showld seudents srudy an

corly hours of worang

Arg 11:

Arg Il

Avg, I Yes, mind ke fresh acd alurl ul
Lhat gime.
Arg IL No, early risers feel zleepy

throuzhout the day.

BEXPLANATORY ANSWERS

1. (ex Argument ] follows hecause those who

ardumntble fr gel educstion due Lo
i omeraEyproblems, wil gos, iF il s
mfide froe ai chawge, and argument i 1=
alao strovg bocause it will require
atlditinnal budger increasing inancial

2, (ak

hurden oo the guverrment.

Divigion of oclety on the Bogiz ol eagte
in veally a hard =tone in the way of
speedy Oow of wocial and palitical -
funerianing a0 argument | 3 szeny hul
arpunient 11 dons nut follow because



3. {d):

4. {a)

5. (b

6. (h):

T {b}:

8. (ck

peaple are already runming the
BoveTmimenl at various levols thuas coste
svavem bear liltle impact on this tssee.
The condition of u developing COUNLEY i
entsrety dilferent as compared to a de-
veloped nation. 80 argument T i= not
strong and argument I s alzo weak
hecause private sector is doing well in
lpAny Cceonomic areas and  theip
credibility s unquestionahle,

Tt 12 u faet based on rescarches that
quality as well as quantiy of edcuation
In winoTity inatitutions, harring a fow,
is exlremely poor becunse of many
reasone as compared to sovernmenlys’
inetitutiong. I7 we compare  the
sehirvement with manay invested it is
less than 1/10th. 8o argument first is
slromg. Second argument is not steong
because ' ruling party must acl in
accordatice with the general welfare of
the people disregarding its vote hank,
L is clear {from the second argument
that there is no way of identitving
deserving authors. I the uriteria of
deserving and non-deserving authors
are the significance of thesr avticles, the
question of investigating inta thd
author does not arise. So argumentdia
weak and T one iz slrung,

Argument T ia weak which is evidént
from the Il argument which ig real b
strang. Moreever, Lhe disciphneshich
is there In military, wditfferent fFrom
the discipline thut wéwant in anlloges
as wrll ae in ke \sotrety, L will
definttely  incroasze @Rgimentation
becaus: every cre doaes oot Jj ke militapy
training andyhis frendom of choioe g
chalflengad haie.

Arpumént 15,13 strong hoogvws wherp
thergaroino pilitical parties there is 1o
demuocrags)

Firgt arpument iz based om sconomie
pruwiples and lawa whils the second
ere haa its wrigin inle bhistore and
poley
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11. {a}):

12, {a):

13. (b):

I (c):

15. {a);

16. (b

PeeLearsns

model can not he the base of an
argument atd naticnalived healll epre
SOPTIRs are not alwaya attached with
puor health sevvire. So arguanent [ ia
also weal,

Fxpenses on elections urs rot the solp
gause of inflation an argurent | s wesk
brt argumeni II iz strons heeada=z
when a ruling parly iz mot it o
selizactorily we can char ge i Ldbwauph
clections and do awsv with o [
Eopulayr vobos,

Argument s stron:s befaze B (T,
their cducation properly 1ler can
revolutionarize apfeuiniseand revump
rural admosphose, 16 doss not mesn
that their eduraton iz®eing wasted
there.

Cmly argfidlent i ié strong, becavse
such mgrics dreate the artilude of
wolghcr sepecially in adulls.

Y dpensies stop puldizhing puide baoke
ik 18 0T ngdazary Lhat students will oo
rhrotghdtont books. Studv habits are
related to  olher wariables  lile
intelligenve, sociv-sormare statize, sim
of life zte. On the other hand Lhere 32 no
douht thatl swides are helplul for weak
gtudents, By argument [ [s strong,
Theme 13 no doubl at all abeut the fi-er
argureent and IT 12 alan stroag becsuac
India is o populous country whers
labour intensive technigne s mere
suitable  than  capital  inLepsive
tarhricnue.

Meckanizalion in sericultture doss out
mesn Lthat Many peoples will lose thepr
Jfobs. Mechanizalion generally he Ip=in
reducing the use of animals in
agricullure,

A rule which is supporied by g theorey
thues ot suit to sl clrcumstinires, So-
argument Lia tot strong bt argument
{ls really a Luct At leass in India whese
Lilkrazy 13 rat more {han 5% while
management reguire (ina picos of
education,



13. {b):

19. {h):

20, {d):

21, {b):

22, {ak

23 (a)

24, {a):

of women wore stopped by men and so
iz the case even today, So ameenent Lia
weak und argument [ iz alze wrealk
hecause many of the women happened
o be the rulors of states and nations
and they aro vuling wall even tnday,

Righi to friedom of expression ia g fin-
damental vight So sareuoment [ s
strong bul sreumert I4s weak bemse
it rarcly hoppeos that opponenrte are

abused in pubic meetings and
conferances.
Argument T 1s not stivong beeouso

whenever there is a1 contradiclion oo
news it s ot Decawss newspapors or
T% are in private hands bt other
reasens are voaponsible for it Bven in
grvernment controlled neswspapers, one
news sometime contradisa the olher
news, Government's contzolled mass
media generally spesk the languape of
the rubing party and Lhus its oredibility
bosormes doubiful.

The cuthwe of Indin is very much
different from that of the waatern
countries, Ho whatever is liked thore
may net he necessarily regarded gond
here Woreover, children need not such
t¥pe of educatinn but they arve adults
wko should be imparted sex education.
Enowledge of sex in voal settse 1+ not an
nnats process.

Thare iz no douhkt in 1the fact thas
relivion hinds people together but it 15
doubtful that it develops fanaticism  All
relipicous people Hke humafifty o
general and love human bding/Only
thear o are exhibitory ahd helizve in
crovudile s toar are [anatical.

Having a nurclear weapon (#6ne theny
and  uzng it iddiReriminately s
ancther thing. Seargfinent T :s strony
Bul IF one ‘s not songbhecauss some
other counigrics of s teron des dlue
have it

ArvgumontSl s hased oo seenufie
repediphesbusarmmient: 13 s not logiesl
Its PeasosEIven L e warent |,
Contrglled driving can noc be done in

25 ek

28, (h):

27. (a):

2E. <X
20 (d):

30, {h):

31 {c):

le atrong but argument 11 iz weak.
Conauming  lguer doce:  ineregse
atamina for a whi'e bl after that it
crashing the nervous system,
Arpumens | is the advaniee of this
type of t2at and ;u":__';umﬁnt I is roaldly
the weale agpest of Che test. T s not
nossible to measure wriling ahbility,
speed, epelline, nrgarizational alality
et through muleple choice tests,
The rute of income tax s really very
Iupgh but even then we should not svade
it because 1L 1e againgt law,
Corraption 1s ivolved not anly ol
cullesring bt sellevs of the commédities
are alen habilual with several teges ol
corrupt activities likie blackSaclcoting,
fale receipts ete. B arpuricat [Vis
steong. Bul argument B iz woalk
beeamee in o froc fmarker pEees are
determined by the foreos of demand und
aupply. If tax la eliminated rom Lhe
coniziodity iggmprice will o down and
15 demapn -l tncreass that will
rizult N @dtse a0 the rices again
Bolhdhe araimienes are not strong.
Equality of \ciucalional appcrtunicy
digs mityméan thal evervone muel be
giverahe chanee of pecting educalion
iTreapective of his talenls. It simply
meafs that any citizon of Tndia wild not
be discriminaied on the basiv of his
caste, crocd, colour or profession.
Higher cducation entails higher costs
&0 Erruliny 1s a muat her,

Study shows that salary ol Lhe toachar
has littls impact on their professional
abiity and moilvslion. Most of the
teachers arve daing well in private
rehools on small an'avics. Soarpument
Itz norstrong bul argoment [ 12 veally
atrong because heavy finanee will e
needed for puving zalaces to toachers,
Withoutproper publicity we cannotre|l
ouer cestomera about the qualdy of our
producte butonea it iz wtroducerd in the
market aller small pubiliody, pronle
chooae ithecause ofita high quality and
ather people are infurmed by those whao



e ymOEr e g v e e

survval af the fittegt_

that of the 1.

33..{3): Azsumption IT1s nol sleong becausc its | 35, {a): After sound sleep mind becomes fresh

mesnng iz entive b different from that

Twpe Y11

Diraections; There nre (o sinlenuadds P
and F emch fallowed by on oeference. Now
determine which of the sicbements supports te
wnference, Mork o) if anly stofement Fis frue, 7.
Merrke (B} i onnly siodement § (s frwe, marg (ol
if frotke Pened € ore Lenee ced pveeele (el of nesiher
of then iy brwe ie wccordoerce b Togir.

1. Py Waror haoils at 10N Thay lequid boils
at 1007C" Therefore, this ligedd 1= 8,
wiler.

= Beery bottle with = preen label
containg apple juice. Apple juice 1=
aafc 1o drink, Therefare, 113 harmless
to dranl from every botile with yreen
labed. q,
All, that twinkles, are .stars. Moon
doea not twinkle, Thersfore moon is
net o st
0 All the motals are not in salid formes.
Mereury 13 m a ligud  lorm.
Therafiwe. mescury 15 alao a metal] 11,
3. (I" Girla play chess—{Chcas 16 a diffieuls
game. Therefore, givls play agifficult

E

EHme.

BN Sheeta 15 & duck. AWl dueks are
navghty. Thovefore, W Sheole® i 11.
rraughly.

-
H

Monkeys like wingu. Al men bke

mangaes, Therclofe gall men awc
menkere,

(LY Plancts dgre stationsry. Karth iz a 12.

anel, Therelvrgyearth is statinmary.

G. (I Surme maiwses are apples. AV pudvas

avcimangoc s Theorefore, all apples are

gk AT
N Eame mangoes are apples. All apples
aregrapos. Therefove, anme mangnes 15,

ate orapes,
Sume Lables are prazs. Al seouls are
grags, Therefare. some stools arve
tables.

=
&

and alesr.

) Every sonsible person Jikes wusic
Tngians are senaible people. Thepeligs,
Indians Lke mvsic,

(1% All fish can thy, Same fisheaee Seds.
Thereforo, some bivds efan {1y

i ATl fish are Wirde Al birds wre
nauphty. Therefdgre.” all“WiEL  arv
naveglty. _

(1% Mo policemar lthestheatiey. He iz a
palicemangiherefore, be doss nos like
Bty

) Bome i ugidiang are ol rcin Al -
sicidne are palile. Therelore, all polile
perEons abe not rich.

(Pl musiciansg are rich. Mo rich parsan
iapalite. Therefare musicians are not
bt

I Oaly a4 Newwn can solve Lus
problesa. He is Newton, Thevafore, ke
can enlve thie problem.

P All caps are rod. ANl Aandoents woar
ceps. Therefore, all students wear ved
LELE,

W Al wrves are womsn, Hamla is a
wrman. Thercfore, amlz is a wito.

i All pold zhines. AN zilver shines.
Therefore. ail pald is ailver.

i) All rold shines, Al silver shines,
Therefore. all that shines is cither
gald ar silver,

(P Some philoeopheors are intelligent. All
phdesophers are men. Therefore,
aote men are mlellizent.

& Some books can el All bueks uree
pencils, Therclrove, i penoil cun
veod.

i Either b 1s happy or rich. ITs 1s vich.
Thevefme, he iz net happy.

G Thase who ave vich cremmit soieide
Ie iz not rich. Therefore, he will act
commit suicide.



P
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P ol n | sAambALtn ke aTraT e

crow. Theretore, no [os 12 packal,

0 Alleeow s are not jackals, Some crows

1. (by

2, {d)

8

3. (b

4. {h):

are  mankera. Therefore,
mankeys are nol jackala,

EIPINLE:

He did not stumble down, Thevefars,

lic did nat run fast.

i A =4 B> O huat not Td. Thereforve,

Ax=D.

EXPLANATORY ANSWERS

Mo concle=ion can be deawn from twu
7 premises so atulemenl ' Ls woonys,
Statement 0 15 corvectly based on valid
sylogism becawze of the word "evory
bottlz” vacd in the siatement provided
we assume Csafe” and “harmless” aa
SV MO MHULLS.

‘Al that’ rwinlkles arc stara moana
some stars owinkle 3o moon may or
may nol be a star, See the fipiee below:

i B
S B |
J..'l

Here the avllopizm is A which is not
valid acoording to figure number ], S P
s nat frue., '

Io the stalemenl €, Lhere ave [uur
lerms (L) wll Lhe melads G) wolid form
foee ) mereury wnd frop lgwid Torm. So no
corelusion can be drawn.,

1* is true cnly poradoxically not
logically. @ e legieally true borasos
vahid syllagizm “ATT” 45 here, (Sea
Apure)

ik i |

v &

4 F

Henece 1 premise is major prémizesd

P M
R

& r

“AAMY 1s nal g xalid  svllogizm
areording  to e above fizurc eo
statemedt P 13 nod oo,

Tl == P
5 ]
& r

AL k2w valid ayllogiem aceording to
thie above fimure oo atatement G 3z orue.

5. (cf): Il r
g e ¥
b I

G (h): B

7. (an

B i not teae bhocause 3 one of the
premizes 1= parlewlar s conclussen
must, b particular. |f inference 13
made. 1’ promise, fe, s0mic guiivasare
apales” evenn ben 1 willl B wreons
because TAT 12 oot theregipbhe fysore
bolow. 80 far as statefient G iz con-
ectned it fizure wilkbhoo

|# M 15
M g A
g

" ]

Acvofding topshe hzure, Lhe conclusios

should ba “Spme grapes are mangnes". Sn
ihe inflerenpe of this elatement bz also ot
trnehi e, the major terr cun not he the

gnbrect of the inferenee.
it |
S
B = T
LAT bo rot a valid syllowism hecanse 1t s
not there in Pigure Mo, 2. 5o statemaent,

P is not truc. 8o far as statcmont G is
venuerned ks fiwure will be s follieea:

M F
3 a3
8 T
Thus AAN s a valid svllogiam

aveording to the feure given above,

I Ii (N

i -—- a3

g — D

Alllaavalid svllogism according 1o the
Meure XNo. 3 a0 etatement P e true.
The Bgure for atatement @ will be



8. (a):

&, {dy

0. fa):

11, (db:

B — P

And 434 is nor s vubid aylopgism ae.
sording to the Figure Mo 4

Tha fipure for statement P will be

i1 P

] M

5 T

Here the conchisien is based on EIO
Which ts vald accarding o Fupaoe Ko
1. 30 P stetenent s correct. The e
fonr & sratement will be

X r

wl— g

5 — P
It means sylogmsm iz AR which s
mot valid aecoeding to figure No, 3 But
“zome polite persons are not 1ich” 1s the
sorrect comclusiom, fe, QAD 1s a valid
syl logizm.

sratement I ois wrong because major
teem can not be the subiject of the
conclusion. I the stalenen) @ Lhere
are four terma 1) 5 Newlon, {71 2o0lve
tlaik problewe, (ric) He and a0 Kewton,
Here 2 Newlon' 1o cummon nourd

while Mewion s & proper noun,
I — P

8 M
8 P
AAA
P M
g — 13
§ ——— I
Al

P siatement ds true bocauas AAA 13 a
volid syPagiarpbut &intement 6 12 ool
Lew: bBreawsspdll i not a wvalid
syllugemnThe correct v llogism will be
“Allwaves arc women., Kamla is a
wife, Kimla 1s 2 women,”™

¥ il

e — 131

5 —————o F

-V

12.(2):

13, (ak:

14. (b}

16. {ak

1

& ——— P

A4 A
Both Lhe stulemend are fal=e hoeawas
AAA i not a valid syllegism according
to [gure Ne. 2.

M P

M 5

§ ——— T
LAl

M B

kY | I 5

3 — F
IAE

Herg both the stotemens are(hused un
fieure oL 3. P la srue Beeg use TAT iz 0
valid svlogsm bot G bs Ldae TAT is not
a valid sylloglzmoln ¢his stutement
the inference L@ e Feome peneils can
redd” Is@orroct

Statement P i coavect bocavsc it is a
disguuietive spllopi=zen Lot skatement &
& anneens Bocause i savs thar those
vl areFich commit suicide. 1t dnea
notmEsn Lhal only wmeh commit
guiclde. There may be peopie ochoer
thun rich who commir sweide. s

Llpure L
M P
5 i
5

AL

Thiz AOD syllomam iz rat wvalid
according tn figoura Vo |

No eonelusion ooan he deawn fveom fwo
particular prenuzses so stetement g
falfac bud & 1s true because it is hassd
an valid aylngiam ELO. Is figure is

i P
ML &
3 ——— I
In a hypotheticsl  evllogism o

consequaent iz denisd then aeLeeoleul
will alzo be deaced in an affirmative
staterment. Bo sdalement P -z tene and
o 1 ool correct hecavse relation
sotween i and 1) s not clear from the
statement, to., A= B D =B =)



Directions: fin cach of the

I

Type VI

following

PRUSLIONG da Shguemen by Tre g fallog e b
an wnference. Mark fa) if the nference iu
definelelv true, piark (8) of the brferencs (g
definilely fulie, marl (o) if the Uifarance s
probably fafse or trge und mark eld if Liforeniee
edre nal he decen,

Lot
14
2. fm
t5)
B i
(b
4 ferd
(0
b. 4=
()

G. i
(i

=1

fxt)
{in

10.

11 &

My son is not rld enough to vole.
My son has handsome persensli,
Inference : My seniag boy urdor 18
Ieava ol age,

Those who are horest are woad
teackars.

Hard working people are honest
Inference : Hard work is (e
nerrgaary quality of a poed tenchor
All wives are women.

2he ia 5 woman,

Inference : She ws o wife,

All menkeya wear rings,

Al vinge are blue,

Inforence : Al monekya wear hlue
rinma,

Cats lile rats,

Ratalike bread.

Infercnce : Bread js liked by curs
Happy i une whn is eontended.
Heligiows people ave conterdod.
Inference : Religiouns poaple dre
happy,

Class s o breitle,

Thiz substanee iz not bricté,
Inference : This substunesafis da
flass,

Eitker he is happy ofhe is BT,

He is hisppy.

Inference : Tlofis pons,

Metals are gones@lly) maileabls or
ductila.

X iz pedther mallenbie nor dustil::,
Inferdfigs 00X 5s not 4 mekal

Birds fig i0%he sloy,

Nightimgale fly in the eky.
Inference : Nightingale iz 2 hisxd
A o higher, we foel cold.

naia we o higker, Lhore is 2 decressn i

Atmoepheric pressure.

12

13.

14,

16

17.

18,

18,

23,

{ar}
(b

()
(b

()
{B)

ia)

(h)

fr)

(&)

e

{ir}

.

(&)

)]
o]

Inferenee @ Wo les? eold oo Lag
dervcase af sumospheric pressure.
Mieeeat cherse,

Checze 16 used in nmelotte.
Inference : Mice can eat omelotto.
F i= hehind A and I

{3 iz behind P.

Inlerence : € is hehind M

A< O bat ot I

B

Az H.

Inference : 1 = D

L i= the inother of K

K is the friend of M

Infercnce : L i« ghe ot M,
Mammals cause thedr YOUNg ores Lo
drinle milk.

Rakbil cawses their
drink milk.
Inferened”: Rahbit is o mammal
Tofize early®n ke ooy is Lisa fud
forbealil,

Geetaipiges early in the marning.
Infecence : Geety should be healthy,
This is Lhe bus'ior roate Mo, 10
Brrses af route No, 10 generaliy o g
Commaught Pulagc,

Inference : This bus Boea to the
Vonnaught Plare.

Theve should ba ne move than thres
children to any senzible person,
Eaheem has threo children.,
Inference : Rakeem s certainly
sensihle person.

I know a grufosso of a university,
He has beard,

Inference : All the professors of the
umversily have heard,

Bome wntel lipent people are huppy,
Some intellizent peaple are rich,
Infrrence @ Some who are 11
happy.

HNestudent likes [uothall
Foothall is not a goad Barmo.
Inference @ Na shudont bikea
Eaune.

Yuurg unes Lo

L

ool



23, ) Hnresty iz ealuabls fior businessmen.
iRy Sonne busincesmen arve ot homest.

1. ic):

2, (e

3. {c)

4. (¢l

5. (b)

4. {ch

B. (b}
&4 {e)

)
&5

Inference ; Some bhusinessmen are
Tl walnable.

24.

) Twn aud Lwe makes four.

(b1 [our iz nwnerical figure.

Inference : Two and twa t2a sinele
uurrerical fipure,

EXPLANATORY ANSWERS

T'he voting 2ge has not beel prven hove.
8o we van oon definstely wae aboat the
azz of [he ohild. We can only asseea the
oy on ihe basiz of the voung age
common in Indie and hoye of thee ase
pereralli Liave haand sorne presanality.

All hard working people are honest soad
Lanest ave goad teschers. Sc hard wowl
15 the quality nfa gnod teacher bnfitis
nol Lhe only quality that le peust have,
I'heve are other qualities reeded v hin

#n b oa goud teacher, [t is probably nat

true beonese the criteria of mecessary
qualitics huave not been given here.

P il
g — |
§ =— F
ATL .

ATT 15 nar a valid avllopgivn,
She may or may not be o wile,
The inference is o clove Lo geolably
e,
Thiz is ot a valuid syllopism acconding
Lo feure No. ¢ where A4 Taml thcre.
HoiL ks prooably wtetbeciuse wll Lhe
vings are blae whichfmankers wear,
Mureevar Lhe maontenmeannol be the
subject of JHe conclesion.
There agiplonn torws in the atatenenl
s copcluaonpdrawn on the bpais ol
1he i, wilboe definctely alse.
Tle Smierence 13 ot definitely true
Tacames of the fallacy of divisien.

—

M

o P
Valid zvllogism of ACO [ollows hero.
S0 the inferendce is definitely true.
1T corvect Infzrenas is “he is not peor”.
The word pencrally’ used i the

L (e}

1. {c):

glatement  (a2) makes  the migrence
probably trne nr probably falsey 1t
means thatl there is at loast@melmetal
which iz nehet malleabic b dugtite

P M
e — 1y
§ —— P

ATl .
AN s wit a valid sellogism because it is
nct there infgire Wo, 2, Kven thenat
is not defintielafidés Lecansn aome that
My in the slov@ore bivds and nightingale
e befromaamong them,
The meaor erm cannet be the subjecl o
thifronelsion so 1L g rar froe, Thers
aydpthor reasens alzo that causes eold
a1l atmospheric pressere 15 one of
them, B the inforonoe may be prohahly
true or probably falze.

12)¢h): The major term can ok be Whe subject
of the comnel asiern. :
1. (ak QP M N
4. {apTI=A<C i1
B=C 12
DeA<BsC 0
A =o ([HY
v =D i)
15, {e): There arc four lefms.
16. {ed: P Kl
by ]

8 ——F
All

Al 1s not a valid s¥Nogane according Lo
Lznre Wi 2 sninfovener is false. Since
“mammals caase Lhelr young ones to
drink milk”. lidces nol mean that oody
maenrna s do Lhat, Theee may be olhers
thal cavse thelr young ones wo drok
milk. 1f rabbit bolangs to the laver
eulagory the inforenes s falze bul 1fhe
belowgs tr tha catewory of mammal who
feed Lher voung enes the inference will



e Lewres, Ton Lbus way we say Wil che
inference s pvohalbiy troe av probably
falac.

17. () There may he othor waya nf being

healthy hezides 1ising earty in the
minrning, B boevaose of she Tadlaey of
campnaition the inference iz probahly
truc or probably false.

18, (o) ‘The ward 'generally’ cbarifics that the

inferonee 3= not definitely oo,

19, (c): The inference “Tahesn is g sensibls

person’ is probably true because of the
{allacy of division but the word
‘vertainly’ makea it more near to falac.
So the wlerence 15 probably Talse op
protiable tee.

Directiona: One stedeinend 13 given ineaeil

of the follouing questions fmllmoed by oo
asaemptions. Mork (o) of qesumplion I s
crpliect, sl (B i fassumpiion £ s impliedt,
mark o) if both Tond IFare implicet and maort
fold if meitier of Lhen fg Dnplicit,

1.

1=

Co by aeroplane firony Delhi to Chennai to
ronch guicldy.

Assumption I: Dellh and Chennai are
connecled by an services,

Assamption [I: There s ne otlhizr means
of gaing from Dalhi to Chennai.
Himalaya drugz improve hnomoplcbin
leaping the complexion far and glaving/
Assumption 1: People like [an and
glaring complexdon.

Assumption II: Complexion Kecomes
dull and dark owing 1o Lhe daliiengy of
huenoelobin,

Opening a spovtz centre in AlNgarksot nn
JhE: o

Axgumption I: Inhabilanis of Aligarh
hawe ne intoTost in wamos.
Assumption W Sports have [oet its
civeclibalily Logdas,

You don's reblitbe on Lop overniphl,
Assumptitaz J: People desmre to be v lop.
Assumption L Suatained offores ara
necdsaey o e on top,

Athowgh the cty was weder knee deep of
walerlor 4 week in Lhix momsnon, thore
was no outbreal of chaolora,

20, ():1 Enow only one professor who has

beav] and other profeszsors are not
Lnown Lo me. 30 che eoncluzion munat
I falec. A the mteronoe that “=orme
profesacta of the univeraity -hove boavd”
is prubably Lalse cr probally Lrue.

21, {b):Nu concluasion van be drawn [ron bwa

particulsr pramizes (Hule Neo 71

22, (d): Wo conclusion can be drawn from two

nepdlive premizes {Rule MNa, 3],

23. (d): There are more than chree terma in the

Lwo promiacs. So ne conclusion can he
drawn.

24, (d}: Major torm 15 not diztriboted at o3 So

10.

COPTISInT an nan bo deawn, 2 ey
of the middle terme ).

Azsumption I: Cholera soreads usually
I Monacon.

Assumption IT: S¥abtar copoenteation at,
a place leads lo Chelars,

Tavi = Loo dotelbigent w [l in the
£xaminatia.

Assunmiion 1: ¥ory intelligent hoys do
peol Ladlfin The eastminalions,
Assumption [I: Thuse who are oot
igtelHgrnt nt 21T may fail in the
EEA M INdTiens.

Thepreseut edicagon systein needs ovey-
Bavlnp

Assumption I The presenl edbeation
gwston has hoeome nheobete,
Assumption I: Thanges resels in im-
provomant.

T, X—The neighhours enwvy,
owener kg pride—a TV advertisement,
Asgumption I People are envicous of
their neighbour's superior possession.
Assumption 1I: One can tosse nne's
neighbour by purchasing o TV,

You huve lo abudy hard for qualifying
JEIT '
Apsummption It Quullying J3AI7
dissrannli.

Assumption T Hard work leads Lo
SRS,

[oaworld. i a rush, ool Thaest heeaboes
indizpencallc,

The



1.

12.

13,

14.

16.

17.

15,

Assumplion §: Book Dizgest should not b
uged when theve 38 no rush.
Assumption 1T Dook digest 13 oselad
o1y in normal fime,

Cyap congitian continues wo ho critical
before raing,

Assumptiom 1: [t iz expocted to improve
afrer vain.

Assumption II: Unlezs it rainz no
change in crop concation 1= likaly e be,
You know that vour suitis excellent when
people azk you about your tailer whe
Aewed LT,

Assumption I: People do not ask akout
vour tailur if your suit is not good,
Assumption TT: Your tailor has made
excellent soit for you.

Buccessful wan has Lhe abibity to judee
bimsef corvectly,

Assumption T; Successful man can not
make a wrong judgement.

Assumption II: To judie cthers is of no
uze for successful man.

Delink degroes with job. Then hoys will
think twice before juining eollogea.
Acsumplion I Boys jein colleges dor
gotting jolba,

Asgumption LI: Degree is of po useipr
getting jobsg,

[f v have any problem, bring ghemgn
me.

Assumption I T an able o solveany of
vour problema,

Assumption 1l: Feudon™ have any
prclilen.

Conzdt roe before cakine any decizior on
mestanent.

Assurmngion I; YW may Lake a wrong
desisaon o don't consult me.
Assimpitiom 1T Tl & lmporiunt to take
right@eeision on investment.
BEwebubudy Milen reading “Alf Laila™,
Assumption I Al Laila iz the only
mpartant veading waterial,
Assumption Il: ATlf Taila iz
e resting stiry.

Hely  seriplures are worth reading.
Hewever we don'l read theen,
Assumption I: People don’t underetand
them that iz whi chey are not reading il

an

19,

20,

22,

Assumption IT; People are thomaclves
guilty for their actionz,

Wapeaing  Clgarerie smoking bs i uriong
ta health.

Assumpiion I Noo-amoking preomobes
hiealth.

Assumption II: This warning am oot
ncocasary at all.

This book i= an propared that ewen a
laymam can study scicnees Wy theda haeses
of teachers.

Acsumprlion It Loy m@rbs ants 4o =tudyv
seienee wilboul Learher. o
Assumption II: Thig hoolt 1= & good
substitwtn for a_teacher,

l et the govegriment imgreqse the prosent
vele of tucatipngdo réeovor the deficit in the
budyer,

Assumptionhl: Presenl rale of laxes is
VLI 10w

Assutkption IT: If puvernment wints o
goglaway with the budgetary deficit it
shidd Incresze Lax rate.

FEvery mature citizon of Tndia gxerciacs
adult franchise. .

Assummntion I: Children are entifled tn
cast their vofes.

Assumption IT: Adult swficrape is
relat=d to thase who are grawn up,
Everyhody loves ‘Popular Magazing,
Assumption It People luve au slher
MApane,

Assumption Il: it iz mcouembent on
evervone Lo love this magazine.

OF ull “he newspepers publiahed in [ndia
The Hindw' has the larresl number of
readers,

Assamption I: The volume of renderzhip
ul ull pewspapere in India iz known,
Assumptien 11: Mo newspaper in India
olher than “Thr Hindw has a large
roadcrship.

. The new education polizy cnvisages major

modification in the educational eysiem,
Aessumption [: The prezent educalion
EFELCT Needs I pvove T eaL, :
Assumplion II: The present edusation
system o moomsistent with the natonal
neods,



96. (thuats haunt descrt places only,
Asstmption I: They do not want the
interforence of human hewng.
Assumption IT: Fvery deserted residence
is haunted,

27, Smme palievls dic becauwse of zheer
negligonee.

Assumplion I: Negligonee kills the
natienl.

Agsumption [1: They are neglected by
dactors ot by their family.

23, Computer eduecaticn should start al
achonla.

Assumptivn I: Leaming compurer is eaay.
Assumption TT: Computer education
foiches jube coatly.

29, An Indian beautician is opening A heauty
purlow in Now Yok,

Assumption LI: Wew Tork lacks boauty
purloura.
Assumpiion Fi: There are bettcr

husiness prospects in ew Tork.

20. Indian soicmtiste working abroad go nel
some hack and serve thetr maodierland.
Assamprion I: Iudia jacks such highly
suphistivated laks, matrmnents und other
amenitiea 94 thoy have thave
Assumplion 1T: Tndix eas not afford oo
pay thom as much as they get thore.

31. *Children whe wet cnomurageaent uaually
perform besser” . A note by the principal so
Lthe parcois.

Assumpiton l: Sume parcids do nol en-
courage childoen.
Assumiption II: Parents magpffeliow
princiral’s advice.

52 Some businessmen are auppoasd tihve A
Mlidas Toach.

Assumption |: Thvery Lusiness, they put
thedr hueuls into gived cecollEneFeuaey.
Assumption [0 Mides war  a
businesuman.

EXPLANATORY ANSWERS

1. (a): Oueis suggestel Lo ge to Chennai from
Delhi by acroplane. It means both the
citics nre conne cted by alr scyvices. Bul
the word ‘guickly used in the
statement clarifiea that there ave other
means of trapsmartation alao, 3o only
wagwmption T 13 mplicit.

2 te); Complexion is directly related (o
bacmoglobin, Thoze whe do notdaye
{uir and glaring ccmplexion feel
concern over the probiemgand bees
Himalaya drugs in ordef to Amprave
hagmoglobin and hence Mairtain
tomplexior.

3. (a): Hero oaly assumplitielygis implicit
because pecple af, Aligarh have no
interrst in pafles@n gporis comive is of
o use here, Afsumption 11 does not
relatz with the statcment at all ao thiz
is mol impiicits

4. (bl Asumption | is oot 1mpbot beeausc
ataterent i3 ‘T premise  whale
dssuniption iz A premisc  hul
aesumpoion I1 15 implicit becanse no
cne can gel vn top overnight. IF he
wanls to be or top he should do

audtaincd g lorts.

5. (o) Although iheFe was wale s ingging, yel
thete wius not outhresk of chelera Tt
dies vasater lopging lsads to choleras.
Arihwator logeing is uswally sean in
munsoon fo cholera and monsoon are
alzo relatad.

6. fe): Too intelHgent means vory inlall gond
ag azsumption | 1 unplicit. On the
agther hand if smme cne s very meuch
intelligent he raraly f2dls and that whn
is rul inteligenl at all may Lul Sno
agsumpiion 1 15 also impdicit.

7. (@) Iu thing s owdated it should be over-
hauled. S0 assumption [is implicit. Bul
changes docs not neesasaly resnltin
improvement even 1f 1t s cutdated.

_B. {a) Asgsumption T s mpHcit becawse if

soneone owns a TV, X his neighbouar
may be eoviows of him berause of this,
Bul assumption [T is net tmphodt
heeause onvying and teasng do ned
mzan the aumc thing.

9, {ek Wvouwant to qualif JI2 yew vl have
to study hard. It iz hard work chat
leade to auccese. Aesumpiion s a0an
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e v wre o peeresnn i et - S,
juncture, The person is necding it and doubt, il effecl on healllh bul non-
he is being suggested. amoking doea nat neceaaarily promotn

10. {d): Buck Dieest become necessary only health, becauze of thiz Teasen warning
when we gre in ruah and want to save L8 DECERSArY .
time. 8¢ both assomptioos are not | 2 (h):Thia boaols is good because no teachier ia
implieit necided tteack it Thus assamption ||

11, () Crop s dependend on rains. Whatever i implicit but Aassuvmption [ s nat
problem the crop facea ceases to be aficr implhicit because 1l 15 we whoe want &
raina. Thus any improvement in crop acquaint  the layman with Qe
condilion = derectly related o rams. I knowledpe and its convorso iz nabtrie
it dosa not rain its condition will secording Lo Lhe dtalement.
continue to be eritical. Thus both the | 21 (b There are many  reasong\bebhing
nsaumpticna are 1mplicit. hudgetary deficita. Thugit the sate’of

12, {c): If people ask you about vour tailer it tax 15 low ovon than i &an notthe said
mesans vour suit iz cxcellent and your that defict is the produek cidow tax
tailor ia an excellent tailor. 8o both the rate. [n thiz wayfirst assumption is
ASSUMPLIOEE dre implicil. not implicit bat Ilene 98 implicit. as

I3, (d): Bucceasful man judge himself corveerly taves are a gooddEouree of finance to
but it dees not mean 1hat he will never cover thodefieit.
have wrong jadgement. Azsumpben [I | 22, (B Adull sufleraesfis related to youths o
iz alan net implicit hacs vee iFhe jud ges childeeo awrc oot entitled to it. But
others he muy or may not be a asgnmption Ll iz imphcit hecausc
successtul man, groaerd ap mcana thoze adults who are

14, (a): Il degroo is not given importanes for ErowThup.
job. then no one would care for eollege | 23gid): Pepular Magazine, iz the name of a
edneation. Thus boys go to college magazing, 1f averyone loves it, it dees
cducation for jobs and importance of not mexn that he does not love other
degrec 1a secuadary e jub. Thug onlv magazings. Thus both assumplion [
sazumption | is implicit, and IT are not implicat,

15, {a): If comeone e able to sobve n problom)f 24: (8): Assumption T ie implicit becauze
only then he will say ke that but unloaz we know the valume of
agawmption IT ks oot implict Bt alll readership of alf aewspapera we can

b6, (o} You are not competent cnough tosake nol conclude gabowl the popularily of a
any rigkt decision on FeSEment which rarticular newspaper. [Tere the study
1z vary tmportant. Thits gboth the imaomparative In nalire o we can nob
assumptions are implicit /A4 person eay on the basts of guly this meagre
consults othrraenTy whenhe need st ur infurmation that other nowepapora hag
he ig et able tota ke agipht decision on less  numdber of readers. Thus
impurtant issues: asgumption 1T is nar implicit,

17 (b): Assumpdion Wiz not implicit because | Zh. {e): Major modification in a systom is done
‘only’ s ot there in the statement but only whoen it has 2eeome cutdaled and
aastifpplavn II i implicil because improvement can bhe made by
reading W material is liked by all only midification. Thus both assumption |
wholy it iz mleresting or significanl aurd Tl are implicll
from any point ol view. 28, {a): Desern place means the place wheore 20

18. (bUnly conclusion 1T is implicit. ene lives, So only wavumeption I s

I9(d): Both of the assumptions are not implicit but the word ‘every’ uzad in
implirit because tRose who are not the zecond assumption makes it non-




mmplict.

27 (b} The assumpticr | iz net lnplicit
because statoment is “T" premisc while
agzuim ptior is A premisea.

25 (a): Assumption T is inplicit becsese had
comipuler educaiion not been easy it
woald not have been suppested for
schonl boys, but it i3 not necesearily
tiae that we can got job easily after

cemputer adocstion,

29. {h):1tis implimt becavas omiy thew someone
will o for basiness Lhere,

30. (¥ Both are the gondine reasovs vhal i
whky (hey do not comae back heve,

31 (c)

32, (a): Asswmptim T is rredovant beceuse s
preverh hias hoem uszed in the statemen:
whiich hiazcloss meaming sl 1

Type X

Directione: Two stedemenis followed by a
concipsion are given in each questian thel
fotlows, Mark (o) if orly furst statoment
swpparts e conclusioe, Mark {B) if only
second stofement supports fhe conelusion,
Mark (o) if both the atatemenis together
spppart the eniclesion and Mark () if neither
af thew supporfs tie cowelusion.

1. (i Adl vivers are mountains.
i) All rivers are atones,
Conclusion - Bome mourtains are
slucies, '
2, (i} All mangoos nee bananas,
{tr} Snme bansnas are sweeta
Concluzion ; Bome sweets arc

TR,
3. (i Deficit financing e2 reaponsible for rise
11 prices,
frip Deficit finameing s essential fur devel-
upInc L,
Conclusion ! Riz¢e in prices s

gazential for development.
4. ) Home vegetables are fruits.

i) Fruits are good for health,
Conclusion : Some weggtahles are
good for health.

5. (7} Aliclements are dugctile

ferd Allclements are frapile
Conclusion @Mepelemnent iz non-
ductile.

8 () Alldolls are beantiful.

1) All dollsg@re [ine sourec of recreation.

Canclusion : There 25 no dall which

ia ot bamytifnl.
7. (i) AMgeading material ia uscful.
(&} Same W) rending materixl  is
lenewledyeabls

Conclusion : Some reading materi-
aimdo not give knuwledge.

8. (1) There is dampmess 0 che climate of
Congo loresta,

fiz) Too much dampness in the cligfke s
liarme Ml to thre  heaith @of itk
inhatAtanis.

Conclusion : Damprgdes ) Conee:
furcst is harmful to the healoh) of 1is
inbabitants..

0. (i} Thewater levelolihe Goprl s rixing.

(et Bome peaple live ngar the Ceom.
Conclusion @ There™8 a dunger to
those Briafg nesT the o fi by Inse Lif
and propertt

10 0 Pagdityvehen aeas Lo m LEE.

e Mdulann A aad wis born e ULP.
Canclusien : Al frerdom fighters
e JpEn in 101

11, @) Aarhebvdeates are heipfa foe the Jor-
malion of the body.

{i) Erowing childres need geod sainvition.
Conclusion . Carbohydratss are
recded oy orowing children

1207 b Warriors generally do not vaarry.

{ii} He i3 o warrior

Conelusion : Ha showld be Barhelar.
15. ) Bovs -ake miterest in musie and
R TR

1) Radha has ne inlerst in muasie and
drameirg,

Conclusion : Hodha is not a haey.
14. (& Many TTadus w0 to Lahwee fov pil-
STImAagT.

{#) Many Muslimsa eome to India fre [Tra.
Conrlusion : There is a mutual
agreement belween Hindus and
Muslims.

15, f) Moatof the murderera leaws sry prant.
fiy Mr, Gupta was killed by some one
Conclusion = His rmrdersr will he
arrested scon.
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. (d):

3. (d}:

4. (d):

5. {a)k
7. (h):
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The correct conclusion will be “somc
stones are mountains,”

r I
M &
o r

“AI" iy not a valid s¥llogism here.
Boh che atatement de not support the
conelusion.

r Il
me"_ g
& I

Conrluasiom is not Ingically  true,
because major term ‘aome vepetables'
can not be the subject of the conclusion.
1135 the abverted form of the statement{z)

: Ttiathe obvorted form of the statement (2h

Tiiz the chvorted form of the stalement
frr).

L. the bagiz ol the diagram shown which
statcmeont de you consider corroct?

fir)

i)
ic)

i) AT ol Lhese

Eequinye
Ruvlnngla — irRracas
Civele — Backwecd
Triangle— Tamiera

In

Sume farmers who are [nveralors)
they are cither backward or Uliteratcs
or both,

Sume nem investor fafmers
backward and Hiterates:

Thuse backwards who Lare nol
illitcrates arc cither i’;lrmers ar

itveswors or o,

A
P
agroupot five person A, B3, C, Dand It

N

Lovedstors

g, pHlays Tennis, one plays Chess and one
HrckedoA and D are unmarried women
and play no game. There is a couple
among them where s husbandof G, Na
women plavs either Choze ar Hoclev, Bisg

the brother of C and he neither plays |

g. {dx

4 (ak

10. (4):
11. {a)k

12 (dy

13. {c):

14. {c):

13. (d):

The ward “tno much” wscd w0 the
glatement (i) makes the cocluzion
wrong. o

Becend slalen et is not nesdead 4t ol to
draw thae conelugion.

Due to fallary of composition Lhe con-
oluzinn is wromg, Ve can ool generalizg
a thing o the basis of just o [fzw
indents.

Growing ohildren passes through the
stave of Lhe formation of the bodw, Bo
stalement 1] s not nocded o draw the
conclusiorn,

The word "generally’ azed wmpthe Oret
slatement malkea the cangluzinn falae.
P Y

] X

8 —F

Yalid syilngismiatd 00 12 here,

‘U and comé’ clarifies that there is
matia | Agrocomient.

[£ marbe peobahly tree.

Yeanis nor Chess. Who plavs Hoekey

hera?
i A i I
fwh C () B

3. Paoints out the letter wlich Teprescntz
Indians and historians but nol polilicises
on the basiz of theee throe circles!

far b fo) f
i) Band £ fef) band g
Liihian
/?/
L
Iiatoriany Prahtimanes

4. On the basis of the fivure in gquestion 3
which of the follvwing slstements s not
correct?

i T'ne area that repressnts the Indian

historian who iz a politician alag iy d.

(k) fand e areas denot represent Indianas.
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=1

fr) carea represents [ndian politician buat
nol historian,

fd) ¢ 18 not an oarea
politicrans,

A, Band Careintelligent, A Dand Eare

Taberious and I, € and E are honeat and

A B, and E are ambitioua, Which of the

follow ing ave not honeaet?

renreRenting

fre) A oand B iRy Ol A
o o Aand DD (ly C, Aol B
O the basis of the infurmalion given in

question Mu. 5 who ia neither laborious
nor homest?
fa} AandT)
(e} Eonly

fi) [ ooy
el ooy

Anila and Geera arc experis n danciog

and muste, Seata end Goeta are expertin
meuzic and painting. Anita and Nesta ave
expert i dehate and daneing. Neeta and
Septa are expertin Painting and debare,
Which eirl is not expert in paintisy.

fz) Auura only () Sectaonly

e Anita and Geetadd) Neelaonly

On the bagis of guestion No. 7 which givl
is exporhin all [ields

fa) Anita {8) Beota

frd Chsel {cl) MNone of these

Directions: Questions fram 9 o 12 are

baved on the following figures. Which of he

falluering

figuwres  represents  the  hesi

relotinnship minong the three ferms nsed e the
question,

10,

1L

(W

fe) ©O

Players, stucentsfndeirla

o
£

et A ) B

fer C D
Player, Undale and Aunt

@ A B

i) (G A} T3
Trdia, Calewia and Islamabad
fal A fh) B

(e} G i) D

Teachier, Principl, Son

o) A ) B

i C fid) T
Square = Clerk ; \\ /ﬂ\
Triangle = Tacheloy B L
Rectansle = Plaver A S

Circle = Male

Direetions: (huestion frony 120 0 6 s
hased nn the mhouve figure. Vorions [etters
vepreseif wricies [ypes of QETSaTLE,

14

14.

15.

18,

4.

18

15,

The bachelor derk whiis a male plaver 1s
represented by the lotier,

fz} O and I fia) 4 omly

teb 11 cnly ff) 1 omlay

Persons who are neither baghelor aor male
but player and clerk ars represented by

tat Boand N (B ang,
fc} Band . &) Loand H

Which of the following crsnp of letters
have at least one properTy common?
fard AL (P ALDMN

e} ATHE o) HKMAC

The male¥elexk who i= a player Lul pot
bachelcr is

fainE iy H

o) 3 @ 1

AE, G, B and F were playing carda,
A'gfadher, mother and uncle wese in the
groun. There were two [emales also: Bwuas
the mother of A whe scored bigher thao
her hushand, D sonved higher dhan 5 bt
Tews {hian 1. E's nephew acored mimmum.
A's fatheor scored more than B kut oven
then be could not win. Who win the game?

e} E ity D

e} C i) F

From the infurmealions given in Cuestion
17 whi iz the father of A

fo) C thi D

i) T id] MNone of thesn

Branches of five natinnlized haaks A B G-
D and E in MP are as folows: &, B, and
Coare in Indore and Bhopal, &, Band T e
i Indore and Gwalior. B, U, and I are in
Raipur and Bhopal, A, T0 and [ are In
Gwalior and Jabalpur, O, K and L} are in
Haipur and Jubalpur which bank has
branches in all eities except Baipur,



20.

21

22,

23.

e

f) A el B

Fromw the datys given in questicn Mo, 19,
whith hank has breanches n minimuam
num bher of citaes?

f A () O

fo) C i) Moo of these
There ave five playera AL B, U, P und En
a group. One of them plays Foothall, one
playz Tenmia and one plays Chess, A snd
D arc muids and play no game. No wowen
plavs eilber Chess or foothall. There is a
married couple in the group where T is
hushand, (Vs hiother is B who is neither
Chees player ner Temwes plagor - Wha

plays Cheau?
iz} E (b B
i C ff) I

From the data wiven in questicn Mo, 21
who iz Tennig player?
) K (b D
e C i) ¥
Lisd of the females from the information
given in question 21,
o) Asmd Dand O
&) Band ¢
) Bend Cand T
fo} Mong of these
Diveetions (Qs. 24-28): Questions Aeee
based on the followbng fonres. Stwedy 1he

fgures ond relote themn (o the tefins/aned
CRACERTS SRS L1 IS0,

205

allard bed) Sofa, Furniture
(e b} B
() € ) I
Croondile. Tagle, Lion
fa) & ) B
fci 1) el L

2. Unontrv, Slale, Chiet Ministor

2T

29.

30,

iy

) O fedt 1)

Tracher. Writar, Philosophar
ol A 1) H
feb O fd) 1)
Father, Son, Daugher

2} A fo} B
[y ff} 1)

Which of the following Geures corredhly
cxnveszes  the  relatiomship  bedwecn
language, Oviva and (rdu.

fa) A (&) B

) G (it D

Which nf the above Dgores coreectly
pxprésses the relationship hetween Lres,
bee anddhousehird.

Study  the figure and answev the
guestion,
Triangle = Hducated pe::npl:ff,f— -_x\l

Hpuare = Policemean

Civele = Boad Tax paver

Eclipse = Shopkecper )
Which of the following conclugiong ia not

correct on tho basiz of the figure given abaee?

32,

fed Al voad tax pusing policemen are edu-
cated

) Bume educated people are nou
plicemen but pays road tax

fei Non of the educated shopkeeperisa
paliccman nor an educated poheeman
15 a shoplisener

fd) All educated policemen pay road tax

On the hasis nf the [gure eiven m

guesiion Mo, 31 we can say Lhal:

{2} policemen don't pay road tax

(b} shoplespers do not pay road lax

fe} some shopkeepers are cducated

(el) zome polivernen ave shapkecpers



DHrections: Questions from 33 fo 35 ore

bherseed o the following figures. Which figure
regresenls the exoot relaflonship widlt fhe
voreobles given in guesiions,

33,

37.

43.

34,

OO @
OO

Man, Teacher, Tailor mastor
i) A v B
fe) C () [

. Arimal, Dog, Cat
fu) A thy B
fe) O ) D

. MMale. Horse, Man
fa) A th It
ic) C ¢y D

. A group of 30 studerts play ericket and

football. 20 playa cricket and 13 plays
foothall, Each student playrs at leas. one
vame. How many of them plays both?
fe) & fhy 10

(c) U fd} 15

Ther: ace aix books 4, B, C. I, £ andds
B, C. and E have blue covers while the pest
have red covers. B and T oare new hodks
while the rest are 0ld booka, A, Tand 123
are law reporls while thessest are of
physica, Which ia the red cofered new Taw

report book?
@l A B
f) C {Fa b

Which two are ol Phigsics books and bave
blne cover from thefduia given n & 377
fi) Band ¥ b)) Band E
fz) B andC fif) Eand T

Which 1z Blue devercd, ald and & iaw
report bdnk from the data given in & 377
e b B
fch ) ¥

Sla agroup of five personz A B, T, Thand

b one iz a farmer, one ¢ 8 physicist, e
Iga journa-igt, dne is an industrializsr and
one 18 a doctor, A, C + doctor profer tea to

41.

42,

434,

45.

coffes and twe of them B + Journalist
prefer coffes to tea, Industrialist + D + A
are friends but two of thoose prefer tea to

oflice. The farmer s 17 benthor, Wine 12 a
farmer.

i) A ffy Ti

ot fefd D

From the information gieen in (40 who
iz 2 physiciet?

) A ) Ts

oy & it I

Who is a journalist acear ding to thednfer-
mation given i & 407

fa A b I
fug O ) I
Players, father and w@fler Gan be .

reprozented by

. o 7 D
() @ el @ Q

Ram) Mabhoesh  and  Mehan  play
Eadmintér, Mahesh, Hantesh and Pramead
ploy ténnee, Mahesh, Hamesh and Ram
plagd chess, who plavs chess and
Eadminton but aot tennis?

fe) Rum fh) Mahesh

fo) Pramod {ef) Hamesh

From the information given in &, 44 whn
plays all the pames?

fa) Pramod (it Mahesh

fri Harm (e} Ramesh

Snake, reptile and rat can be represerted

B OOOCID
Ne >

. Catlle, guat and gheep can be refresented

ﬁx_JQOQ
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48, Air. water and sand can be reprezented by | B1- Five friends Lalit, Feroz, Shahid, Jehno
' znd Manject are prinler, singergfdancer,

(i) puel, or soulpture. Lalit and Feraz ave ot
/ senlptore or dancer. dohngand Blie-eet

are not poet or parer. Shahid iz oefeher

) painter aor dancer. Manggeel is kot a
/ dancer. Feror and Shahid aréot poet or

sinuer, Who is padt?

" ’ fid Maninat flie Lahl
@ m fe) Shahicl () Toroe
5L A tesm of forr from ACH, G, ML B F and G
O i to be scleeted avtrding Lo the followg
(@) conditionss
49, Hwman, wamen, and educated, ¢an be g:ﬁig :rﬁﬁzzgzttﬁeg‘i;g:iher
represcnted by Aand & must Be together
. s Fand T2 muzs be togeshor
@) O O O Cand G will not ke tegether
_ Cand B must be Logether
The team will have
{hl © O fzp ADPG b} ABRCE
frd BUAG fid} Wnme of these

3. A group of 25 students play Hochew,

! Foothall and Crickel. 5 plays all the three

games, 12 plays hockey and footbadl only,

13 playa foothall and crickel only. How

many of them do not play any gams
@ OO @ 5 b 7

- . _ ) & fcd) 11

50. Shirt, garmeat agd cloths, can be shown | 54 (O the busis of the dala wiven in €. 53

how many studenta de not play foethall

by
@ O O Q & 10 b 1

EXPLANATORY ANSWERS

fei

Lalop \Those Tuckwsrds who are  nat are unmarried wamen and play no
“Willitaratea are ont of the reclangls thae game. Mo women play chesa or hockey.
part belongs to sriangle and aquare C iz only woman excludig A and 1), Ho

both. ghe musi he palying Tenniz — B

2. (b} Gul ol five thres are plavers. Aand D neither plays tennis nor chess, [t



means he must be playing hockey, The
cnly plaver atter B imale and C fermais)
& B =0 his game is chess. o is clear
Lrarm the Follow ing tabile.

i T & I fn He [ W
A ¥ x 3 ¥ « i x
B K # W '

[ W » t

I ® B - v » - w
E ' ¥

. hlelleoris in the top cirele ae woll as1n
the lel hand civele but right hand
cirele is away from this leller,

15. (b):The letter 7 inside the cirele, @guare,
triangle and rectangle,

1+ (&): These twa letlers arve inside Lhe square
and the rectangle botovtswle the circle
ana trEngle.

L5. {e): A ia neither clerk, wor bachelor ner
male hut only a player. D is hachelor
but he iz neithor male elorz nor a
plaver. Same ig the cage with [ and K
Thus they all belong Lo feur dillcrene
fields.

16. (b): It is outside lhe triangle busnside the
cirele, snuare and rectangle.

17. {b): B is Lbe molher of 4 = her Fushandil)

and some gile may belplavees and
audents. So fipure BDagmast suitable.

10. {d); Seme players maydeuncles and some
may be zuntz Similarhe, seme uncles
may he plavers nmdfsome aunts mauy Tex
players. B urelesmdy oot be aunts
anc sunls may et be unelos. So figure
D je mudlyeaitable.

11. (¢): Caltopiz@ city ol India which is
repressigsd by atng cirele with » zmall
prcle in it snd lslamabad is nol the
parhof In:dia,

14 (ALl ey Lo the priocipal of the
cellegr amd may have a aon.

4. (dy: Aren (s apartuofthe vighe hand elvclc F=J=E {2
g0 the slatement is wrong. ks nephow was A who acored
5. {a): ['usa right mark onthe qualilies that Tl =
a purticalar member Hossesses a8 ia Bz hushand = F {4
done in tho tuble here. Be husband iz A, B 40D 00—
Itellient foborions  Homest Ambitiones BT DLEA=L (5}
A 7 7 7 BE>C=F=>D>FE =4 (G
o S - 18. {a): B's hugband ig £ and A1z the son of B
' g0 C iz the father of &
C ¥ v .
[} o o 19. (ck Ber the taklegiven below:
E o v v Hanh fadore [ Bhapal Gieelior Raipur Jobolpur
. (b): Bis neither laboricus nor henest. A ry # v .f
7. (2): Bec the Sollowing tablae. B o v ¥ ¥
Fointing  Tusie  Lebate Dunee C v v v v
Anita ’ v P B d v ‘“ g
Heely < v ¥ & 4 - l v
el + v ¥ 1. (d): :
Gerta < ¥ b 21. (a): A and D {maids) play ne game.
2. (d): 93 (e AR C DandE- Ak 11 = BCE are
A st it T player: |
0. {b): Somo plavors may b studgnts asd il 23. (a): F is the husband of B or C

13 1= the hrother of
F is the husband of ©
B ncither playa chese nor tenms
B plays foothall (13
Mnworman playa chess or foothall.
' doas not play chess or foothall
(: playz tennis (2}
[ plays Clhess )
24. (d): Both Sofa and hard bed come under the
catagury of furniture,
25, {e); Crocodile Lives in water, lion on land
and saple inthe air. So all of them are
totally different.



are run by ihe chief ministers.

E7.{a): There ave somo teachers who are
writera and philvaophers. Theore are
wrilers who are teachera andl
philasophers and there are =ome
philosoplere whoe are alao teachers and
writers.

28, {d¥ Pather iz repressnted by the big circle

2Y. (2} Ordya and Urdn ure twe languazes rop
resented by small civelas in a Big one.

d0. (a): Both bee and hovschird make pestz on
Tees.

Sl d}: First conelusion iz egrroct because
squars iz in the circle and some part ol
the pivele 1= o the triaoele. Secand
cenelueion s eorrect which is olear
Trom the shaded ares. Third atatement
15 also correct bocause square s jusl
touching the ccipse and last che is
WP,

32. (o) Triangle covers some parts of eckpae.

33 (b} A man can be a teacher as wall as
tailar master wath hali-heall job.

34 (a)
an. {ad):
d6. (a}: 10+ 20 = Ah — 30 = 5.
57.{d):
A i C T E F
Hed  Blae Blup Red  Blugd™\Red
O Old Old MNew Ol New
law Phy Law Law #hy ( Phy
38, (b
39, (ck
4. (ad: A C + Doctor & Ted

11+ A + Industralist & Coffee

(rmly twid of them}

D+ Tnduagrialiat = coffoe

Bt Jommnalist =olleo

B = Industralist

&= Jaurnalizt

Subtractmg B+ D ram A+B+C+D
R

A+-T+F ="Tes

&> C + Dogtor = Ten

L = Mocter
(s brother ie a farmeor
A = Farmer

= Phyricizt is the kaat professional.

42, (d):

43, (b):Father and motker are of equal rank
and two amall cireles represent them
and big eircle reprovonting player: is
relatcd Lo buih in equal statua.

44, (a):

e finm Mehesh  Pramod  Hesees)),
Badminton ¥ «

Tennis v . N4
Chess o ¥ "

45, {b):

46, {e): Snuke is a replile Bat ¥asigadhiilerent

animal,

A7, {ek: Goeat and sheep hothars callle.

48, (a): All the three arc enfuely diffcrent
things Arepitecabed by e
independenf civales.

49. (b):All gomien amedhumanes but enly sume
of them afe educated.

BO. (d)ehll Sarments are made of rlath and
shikl 15 4 garment.

51 (b):
Name Baviier Singer Poet  Doncer Seinptors
Lalit 4 " w
Faroz ¥ % X ¥ %
Shighid £ >< p x v
Jolin -< s *
Manjest = - n ¥
52.{a:B+ 0+ D
: (i

B+C1 R

{2

C + G vat possible

@

G-+D

{4

AlG-T+F

{3

b3 (kg plays all S0 25 -0 =20
12plays Hand F.8a 20— 7 = 14
Wplay Fand C. So13-{1+/1=1
Sdo ot play any game.

54, (d)e:H
B

7

a
-
i

o 2h—-15=1%2

— ]



